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> Syllabus ﬁ

Criteria for Selection & Examination
Qualifying Tests:- Haryana Staff Selection Commission shall invite adequate number of
candidates on the basis of merit obtained by them in Common Eligibility Test (CET), for
Physical Measurement Test and then for Physical Screening Test both of which shall be of
qualifying nature only. The Haryana Staff Selection Commission may do so in such
number of batches, as it deems necessary, so as to shortlist qualified candidates equal to
four times the number advertised post of each category for Knowledge Test.

Knowledge Test(94.5% weightage): - Haryana Staff Selection Commission shall shortlist
candidates equal to four times the number of advertised posts for each category among
those who have qualified their Physical Measurement Test (PMT) and Physical Screening
Test (PST), to further appear in the Knowledge Test. The detailed procedure of Test shall
be as follows:

All candidates shall have to undergo a knowledge test of ninety-four point five percent
(94.5 %) weightage comprising of objective type, multiple choice questions. Each question
will carry equal marks.

The medium of examination shall be bilingual i.e. Hindi/English except where the
knowledge of Hindi/English language of the candidates is to be tested.

For being considered for selection against a post of general category, a candidate has to
secure minimum 50% marks (excluding socio-economic criteria weightage) in the
Knowledge Test. In case of consideration against a reserved category post (whether vertical
or horizontal) the candidate shall receive a concession of 10% i.e. the minimum cut off for
such candidates shall be 40% (excluding socio-economic criteria weightage).

Syllabus for Knowledge Test (94.5 Marks):-The test paper shall include questions on
General Studies, General Science, Current Affairs, General Reasoning, Mental Aptitude,
Numerical ability, Agriculture, Animal Husbandry, other relevant fields/trade etc. There
shall be at least10% questions relating to basic knowledge of computer and atleast 20%
questions relating to basic knowledge about Haryana. The standard of questions shall be as
expected of an educated person having passed 10+2 examination for the post of Constable.
Pattern of Examination: All questions shall be compulsory. Question paper shall be
Bilingual (English & Hindi). An Offline (OMR base) written examination for Knowledge
Test will be held for recruitment for the post of Constable. There shall be no negative
marking for wrong answer. The total no. of questions will be 100 with weightage of 0.945
marks for each question. A candidate has to fill one option compulsorily out of five options
given. Extra five minutes shall be given to mark fifth options, if candidate does not know
the answer. Total time allowed for the paper will be (100+5) =105 minutes including the
five minutes. In case a candidate doesn’t mark any of the five options for a question then
0.945 marks for each un-attempted question shall be deducted.
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FRATUT Yiere shivearet udter, 2021

ST Aigd &1 Wo1-3

fefter ureft (SET-2)

(e fafer - 2 76ew, 2021)

1. As per Section 41 A(1) of Cr. P.C., the Police
Officer shall issue a notice directing the alleged
accused though he has committed a cognizable
offence, to appear before him or at such other
place as specified in notice in all the cases
where the arrest of a person is not required
under the

et & amr 41 A(1) & IFER, gfetw
aftretlt U e W wam faad v
AU I TAT AT HHA K ASE, IHH
WES O T TR W W U9 A s e
e < s s S |t ument o Aifew |
fafde &, wef fedft =ofvs =« firgard =t
SAYTHRAT TE B
(a) Provisions of Sub-Section (1) of Section
41/9RT 41 HF 3T-ERT (1) & TFEH
(b) Provisions of Sub-Section (1) (a) of Section
41/9RT 41 I 3T-HRT (1) (a) & TEEH
(c) Provisions of Sub-Section (1) (¢) of Section
41/91T 41 F 3T-917 (1) (c) & T&a8=
(d) Provisions of Sub-Section (1) (b) of Section
41/9T 41 I 3T-9N (1) (b) F T
Ans. (a) : GRGH. F 977 41 F TN (1) &
TEEE & ouR WeRALH. @ g/ 41 A(1) §, e
ARt T Afeq IR Sam, EE S SRd S gy
YUY FT & FTGSE 3T TEA T 3 TH WE | 99
21 o1 forder fean S St 5 3 uoft amet § Aifew §

3. Which of the following countries given below is
not having Veto power in the United Nations
Security Council?

frefafea & § fee Qor @0 @y Ty geem

ufteg # efier arew T §?

(a) France/i|

(b) India/9Rd

(c) China/9=

(d) None of the above/SWh § T Hig el
Ans. (b) : g% TF T 9Ru ¥ $of 15 Ge 2, forgh
Y 5 gee wEl #ik 10 gaw ol € 21 dH, Wi,
&Y, gAReS fhen i TYw Tsa SR (T gaw)
F ST ofet ST 2, AT IR HI F W 5 T 2
4. The Suez canal links

W A gt 2

(a) Red Sea — Mediterranean Sea/clldd X —

IHET 9
(b) Mediterranean Sea — Black Sea/Aed WX —
EAISIIRSIRIEY

(c) Black Sea — Dead Sea/aTell 9FR — Hd HIR

(d) Red Sea — Black Sea/cleT | — &hlell HR
Ans. (a) : @9 TR AT TR H A G G g
2 T ST WETA H UREN W § 7O H 2
W T8 H 1869 H e T T TR IR g ¥ Y®
B WISTdIE T TAT BIT 81 98 A9 3R ST ufirrd

Rife 8, i Foch oafes ot PR 1 srereasar =g & || (30 T TG SR A G S FA 2
2. Find the number of terms in 1, 4, 7, 10, ........ 34.|5-  The Scars of Potato are also called
1,4,7, 10, ....... 34 T U} Y Hee 71 Y 3] T S foe i <R e S &7
(a) 14 (b) 10 (a) Annotation/TACIE  (b) Eyes/31@
(c) 12 (d) 9 (c) Root/Sig (d) Ears/=h1q
Ans. (¢) : & T8 f@er - Ans. (b) : 3T R a4 e &1 7= 9 ‘sw’ off 2
1,4,7,10, oo 34 A F & NHF UFEH b A & WF Fl FHACH Fal
sjge TR 4ot # 8- ST @1 8 qrERHT § STl 1 A dten 3 2
Teell 9% (a) = 1 6.  In a house there are two clocks A and B. Clock
i (d=4-1=3 A uniformly gains 4 minutes per hour and
3w I (Tn) = 34 clock B.uniformly loses 2 minutes. per hour.
A T @)= i the two clocks after S hours?
TEHR, Tk TR A A 3B 2 afgat 31 A § wfw w2 4
g;:fj((g:gg firte & w2t ¥ aite B o w2 2 fire
2 = i Bt 71 5 uel & We QA utest o
— ol Ty TTw ww o e e @ gem?
l=n-1 (a) 48 minutes/48 M€ (b) 12 minutes/12 e
h=12 (c) 30 minutes/30 9 (d) 24 minutes/24 e




Ans. (c): T A SR 5 902} & o€ 99T H agd-
1 59T = 4 fAe
5 U1 =4 x 5 =20 e T3
TSt B )T 5 90} & o< 9Hg H -
1 5oy =2 e
5901 =2 x 5=10 fie &
3T: 5 HUSt & aIG QAT HSA F gUT FH SN
=20+ 10 =30 fiFe
7. The sum of a number and its reciprocal is
thrice the difference of the number and its
reciprocal. The number is
T & 3R SH% TR T AT W& 3R
ST TIRT % AT R I TAT §1 98 W@ ¥
(@) +/3 (b) +V2
(©) @

NG V2
Ans. (b) : 9T G x 21
TR,

X+l—[x—lj3
X X
1 3

X+—=3x——
X X

1

_+i:2X

X X

xX*=2
x=+/2
I @ /2 R
8. Herbivoures are also called as
JITERTETRET St oft wga 2
(a) Decomposers/3UeHh
(b) Producers/3dIssh
(c) Secondary consumers/fgtiae IR
(d) Primary consumers/ST4Heh SYHTH
Ans. (d) : 9 STaer ST 31T IS i e a1 &
del § I e 7, I 999 Sull 1 YRR A1 T
IUAIHN el S 21 T8 VbR Sia 2d g1 Si-T,
e, a=d, g, forrm amfel

9. 'Neeru Meeru' (water and you) programme
was launched in the state of

i W' (I 3R 31 ) wrEish foRd T §
1% ferar T or?

(a) Andhra Pradesh/3Ti&1 S&31
(b) Tamil Naduw/dfHerTg

(c) Uttar Pradesh/3tX EEN)

Ans. (a): & d® (I 3R 3T) HEfHT 1 9, 2000
F STy W TF H YE R T T @O G S
FEET 21 THH TST, R Sk 3u-Rren wR w fafte
T % N S §EU F FE A 21 98 T TR

ZRI Y& fRa T St W R e Se wRimd 2

(d) Gujarat/TsId

10. In asale, a perfume is available at a discount of
15% on the selling price. If the perfume's
discounted selling price is Rs. 3,675.40, what
was the original selling price of the perfume?

T O, Tk WRW foehdl 968 W 15% oAt
B U IUCTS ¥l 3R WoRI et Rt femar
T & 3,675.40 o, WHRI 1 9 fawha

g /=T o1?
(a) Rs. 4,294 (b) Rs. 4,324
(c) Rs. 4,400 (d) Rs. 4,386

Ans. (b) : AT WHH 1 &6 ToF = 100%
ﬂ )

(100 — 15)% = 3675.40

85% = 3675.40

5% =216.2

216.2

100% = %100

100% = 4324
T: WRA T fasa-ea R 4324 21

11.  Special characters that generally cannot be
typed from the keyboard are known as

I A e o SfeRd T

ferw < weRat HEETT

(a) Symbol/fgmre (b) Equation/3Fa¥H

(c) Number/dsX (d) Letter/aeX
Ans. (a) : {99 FFL A G Hae T fHa
(typed) & FHT ST ®Wehd et (Symbol) HEal 21
mgmzﬁ?ﬂwéaﬁﬁﬁémémmm
e B

12.  Find the missing letters in the sequence.
IIHT T T TEAT A i
a_bbc_aab_caaa_bca_

(a) aabbb (b) ababa
(c) bbaab (d) aabba
Ans. (d) : RATER,

aabbca/aabbca/aabbca/a
374 Wﬁwﬁ@[aabbaél
13. RTOS stands for
RTOS o Tt 3mar #
(a) Risk Time Operating System/R& 2EH
SR few
(b) Running Time Operating System/I=T 2ZgH
sffeT faew
(¢) Round Time
sffeT fawen
(d) Real Time Operating System/RId <EH
sfeT foawew

Operating ~ System/USE2TEH




Ans. (d): RTOS & q0f &7 - ‘Rad-cwy fRfeT
ffe® (Real Time Operating System) &ldT 81 48 T
THR 1 FRET Req 21 30w (08), faen sEam
R PR F WA TTHY B B B &1 T & T
Fioaer 3R FEaR & wed g arett geft wfafafr &
o et 81

14.

Consider the following about the Indian
Constitution.

WA Gfererm & an # frefeias o e
£
(i) Uniform Civil Code./qUT MRk HigaT

(ii) Prohibition of Consumption of
Liquor./IWTsl o Ve AT faen|

(iii) Promotion of Village Panchayat./a™
USITId ekl S TaT ATl

(iv) Promotion of the Cottage Industries./gn?ﬁ'{'
ST el SgraT ATl

All the above are the part of/Sur<h Teft feprwent

feemr &7

(a) Directive Principles of State Policies/Tsd

et % e frgia

(b) Fundamental Duties/Hlfcie e

(¢) Fundamental Rights/mifeis iR

(d) None of the above/SWh § T Hig el
Ans. (a) : IR H@fFEE & 94 F R 36 T 51
T T & Afa-Fdee fagr & secra 81 fed =
aRe H@fed (SR 44), IW TERE H dgEl AT
(3BT 40), FER AN & qgET T (FTDT 43) T4
IR & T4 F Y w1 ve vt & ke faga §
Ieafad |
Tt wfaee % 9mT-3 # wifes SR SR 94 (%)
¥ Tiferss eed 1 T 8 |

15. Headquarter of International  Labour
Organisation is
forsr s wvTeT 1 YT T R

(a) Geneva/S=aT (b) Manila/A=ten

(c) Rome/TH (d) Hague/%’T
Ans.(a):ﬁ%%@ﬁﬂﬁ@mﬁﬁ(wﬂg)
§ 31 ETAs (ILO) & T1T 37a, 1919 2. # =it
Ft Rafy § guR T 3% SHaA-TR & 390 FH & 34
q fovar w11 fay SR gMed (WTO), fay sifss
el TS (WIPO) i T f Sar # 21
TR forebr s gererd- ween (Reid)
IEE =EeE- 8 (fetdsd)

(c) Tromatropism@ﬁ@ﬁﬁ

(d) Nyctinasty/ﬁ"q?ﬁ@
Ans. (¢) : W W W U F IEATH
(Tromatropism) Tfd SRA &t 81 ST 918 “Seprer &1 3R
T L d 3@ BIRIZIUSA (Phototropism) H&d &1 S4-
SIfreRTeT dTel & TP FeBTYT F SR FehHT RGRAT B
21 v wiel # I g S qare § A9 i /e gfg wW
a9 %‘I%?ﬁ?jﬁﬁ (Hydrotropism) Fed 2|
17.

How many times minute hand and the hour
hand point in opposite directions during 3 p.m.
to 9 p.m. in a day?

T g7 § 3 a9 § 9 o o g fRat I
firre oot @g i @2 areh wd ke fen &
Bnft?
(a) zero/I[A (b) five/dra
(c) four/= (d) six/®:
Ans. (b) : - TH 02 H ¥ F e R uwe # o
T e faada feen & & 2
o 3 39 o & Fa 6 UL 7
37 3 3R 9 S % A9 5 IR uS H GE fawda feem &
grff| i 5 oo 3R 7 99 & S Had 6 a9 fAwd
ferem & ot anft
18. The book titled "The Republic" was written by
‘g fufectsr’’ ek TXaes fermen grT foredt 8
oft?
(a) Plato/=i21
(b) Aristotle/3T&]
(c) Socrates/ghId
(d) None of the above/SWh § T Hig ol
Ans. (a) : T R9fscT® (The Republic)’ A T&H HEH
A a9l wel (Plato) @ 9fag AT 21370 g4
@ % AH-I9 @ 39 9§, gHUT & awisi @
I 21 39 amis § =@, TR a9 =Ete aee
Tot F T 21 gHEA 1 wE B B A A WS A
feran

19. In a word document is used to type the
letter only once.
T o€ TEE | T YANT Ueh 318’
T hacl Teh 9 Sfehd it o foTT BraT &

(a) Outlook/3TRBIHh (b) Mail merge/ﬁc"f TSt
(¢) Messaging/FafT  (d) E-mail/Z-Aat
Ans. (b) : TF 98 IWES § HA TS H AN TH 3B/I
&1 el Th aN 2fhd (type) HT & foIT 81 81 0l ol
MS word &I T T Hi=R &, f5rds 7eg ¥ 39 & o
T e A hl Th WY R o TR 9 9 TR B

16.  Which plant movement is induced by injury?

e T T Y @ r-wt hy AR et 82
(a) Hydrotropism/8EgI2iiysa

(b) Photonasty/‘ﬁ?ﬁ?f[

20. The largest salt water lake in India is

aRa § @R ot o wad et e ¥

(a) Dal/gd (b) Pulicat/JfTehe
(¢) Chilka/faeht (d) Kolleru/Hic®




Ans. (c): 9T § @R I & G 99 il oo 71 9@
RT % T e W Rer sifew vsa A AE (sFgEia)
21 =@ Fa (SE-EvdR), Fow e (T R T
Jfeshe 3ia 1 R e wd dfterg T | 2

21.

How many pollen sacs present in each anther
lobe?

TS TR el § feRe TRTeRTY TiNle 2 €7

(a) Five/ard (b) Two/a

(¢) One/Ts% (d) Three/d=

Ans. (b) : 5% TR g § ‘T W (Pollen sacs)
TN B 21 36 iR R e WY 3 B 2
TN, T IS T B T e 2, S e W
fearefiar g 21

22.

A man walks 10 kms towards North. From

there he walks 6 kms towards South. Then he

walks 3 kms towards East. How far and in

which direction is he with reference to his

starting point? ]

e =t 10 FRIfl. STR & X =rerar €)1 ot &

% 6 TRt Sfor & T <rerar &1 R a7 3

feRafl. ud it T wrerar ¥ 9 U AR

foig & wae o forw faom & ofit foreft 3T 27

(a) 7 kms towards West/afsrd &1 3R 7 {510,

(b) 7 kms towards East/qd &l 3R 7 f. 7.

(c) 5 kms towards North-East/STR-qd @& 3K 5
fop. 1.

(d) 5 kms towards West/qf3m &l 3 5 f.H.

Ans. (¢) : IRAER,

A ‘q
)
6 km

,l 3 km 5

g
3
“'5 km
i

v

A ACD ¥ TTEaFIRg 7T § -

AD=+4"+3’

=4/16+9

AD=5
T 98 319 R g ¥ 5 km Iae-qd fawm # )
23. If the base radius and the height of a right

circular cone are increased by 20%, then the
percentage increase in volume is approximately

Tfe Wk oIl g1 Vigh ot LR it B i
2 U 20% ht gleg ol Tt &, aF 3T o

T fehae wieoTa st gfeg BRAT?
(a) 78 (b) 60
(c) 73 (d) 68

Ans. (c) : AT ¥ I 3EFT = 100
120 120 120

7 AFAT = 100 X — X —
100 100 100
=172.8
g5 = 172.8-100=72.8
72.8

0/:
7% 100

24,

x100="72.8% =73%

There is low yield per acre but high yield per
person in

30§ fhT Yo ol @it | Ui Tehg SUS hu

T W ot ufer =i+ Suw etftres &2

(a) Extension commercial grain cultivation/saT9%h

I SIS S Sl

(b) Mixed farming/faf3a @t

(c) Co-operative farming/w EE il

(d) Truck farming/Zh adt
Ans. (a) : STIH AGHIYS AN P S, FA (V) &
T TN 2, e 9fd The Iue %9 8 W o ufy =afh
3usT 31k BlaT 81 Uk U Gt fooH wgelt & ST &
g1 gyueH o R S 8, e o seard 2
FE BIC-BI Y@ & fEuFl F S Gy fd H A T
FY TEHl Fy/ T Feard 71
25.  Sailors : Crew : : Sheep : ?

et foreg : : vftw - 2

(a) Herd/gs (b) Crowd/sHSs

(c) Army/3THf (d) Flock/Tetia
Ans. (d) : 59 7#R Sod (Tfe), fBreg (Tifat &1 3aT)
¥ Hafem 8 3y A (93), v (9S F TR) §
Heifer 2|
3d: ’ﬁ'

26. Arjuna Award was instituted in the year 1961.
It is given to sports persons for consistent
outstanding performance for

TSI ITATS hi TATUAT I8 1961 H gFNIE

qeh AT Sgadi= yeuia & & T Raenfgat

aht e e 2

(a) Over the period of last five yearsffﬁ@ﬁ LiE]
st = srafy

(b) Over the period of last two yearsfﬁ@@ a aut

(c) Over the period of last four yearsfﬁ@@ IR
st i srafy
(d) Over the period of last three years/ﬁ@ﬁ iG]
st i srafy
Ans.(c):ﬂﬁ?mwsﬁr@ﬂﬂa@@@ﬁﬁ
R 7, fae T 9 1961 # g3 7% fsd an
ot § T & & H oge YauiF F g faenfeat
feam s 21 & 2023 F T 26 Raenfedi # T A
fear T 9RA F gafed B ™ [EER TR SIS
A T SR 8, Hd [ 90 W9 T g ™
T 7|




27. In Power point using Word Art you can easily

create/dTeR Uige W TEE 1 WA id §U

ST ST | AT TR B

(a) Logos/?ﬁ"T\T

(b) Seals/T&T

(c) Banners/s+X

(d) All of the above/3Tw & Teff
Ans. (d) : TSR TfEe § € 31 (Word Art) 1 ST
TC 3T MHHT ¥ AN (Logo), HEX (Seals) T S
(Banners) 3f& R ST Fehl 2l
28.

Two ladies and two men are playing bridge-a
card game and seated at North, East, South
and West of a table. No lady is facing east.
Persons sitting opposite to each other are not of
the same sex. One man is facing South. Which
directions are the ladies facing?

3 3l 3t & afen R Bt @ & < RB T
AT o Ul hT WA § R TH AN & 3TN, Ud,
Iferor of ufyrw &3 2 ferelt ofa =61 g g
= 3R TE ¥ T T o faudia o9 =t
& fofm & 9t @ =t = g@ e #i
3 &1 Afgemedt @ g forw foom 7 272
(a) North and West/3t i i3
(b) Eastand West/qd 37T afym
(c) North and East/3tX 3R {Ef
(d) South and East/afa 3R

Ans. (a) : & 3 3R & =K & a3 H T 7 8-

I

I

F
F: Afgesi B g I SN ufyw e # 2
29.

South Asian Association for Regional Co-
operation (SAARC) was established in

gfaror wfytand esfrar weeh T e (SAARC) &Y
TG H gl

(a) 2001 (b) 2000

(c) 2010 (d) 1985

Ans. (d) : 3R TR &F TeamT §3 (SAARC) &
QAT a8 1985 H g3 AT IHH S HISHIUS|
(Fur@) # g1 WRA, WM, SFCRE, |9, 9,
ficienl, HIeEd T SFTHTTEAHE 366 TR o 2l qE
2o wREE W w T e o ueite aE
e 21

30.

The book 'Pahala Girmitiya' was written by
‘vge  finfufesn’ gwew fRaes g foreht
T ofi?

(a) Gopal Krishna Gandhi/Trarer 7 Tieft

(b) Giriraj Kishore/fTRTsT fFeme

(c) Rajmohan Gandhi/TsTrg e

(d) Ramachandra Guha/THg Tl
Ans. (b) : ‘Tgon firfafear a9 1999 & wefym s
fpeie g1 A U e IuR g, S Ween e W
eRd 21 199 3R 20 wh F R st &
IS, TsHifas Jogff W eaid 36 3T &l &
2000 ¥ =H FEE ¥ QBT A1 T 2
31.

The Aadhar (Targeted Delivery of Financial
and other subsidies, Benefits and Services) Act
was enacted in which year?

IR (fasftm iR = wiemst, @ 3R
[areil w1 Afera faawor) sfufem fere ad

] feram = ar?
(a) 2019 (b) 2016
(c) 2018 (d) 2017

Ans. (b) : 3T¥R (forfta 3 o= Gfendl, o9 3K Famsi
F afa foaeon) afafrm, 2016 @ ad 2016 § @l
o T TR AU d@ W UHHAE HEHA 2, e we
90 W ANl B A g e ffied 3 e
A fyEd weH @ ST @ 2 3w w1 aea
Il A T Ay seee sudsy weHr, 9 fefea
Areq § el off Feifua foRam s )

32.

Body segmentation like rings is present in

fir =t T IR Hisg §

(a) Annelida/TAfereT §

(b) Non chordata/ft ®ger #

(¢) Chordata/digar &

(d) Animalia/9g] &
Ans. (a) : TAfST (Annelida) @ & Sfai & TR
T o # T S 21 39 g9 % et B IR o,
e, e wnfad 7 wuet § der gon g 21 3w A §
TH wE swEferl Ml SR % i B9 21 e,

Sl 37fE 39 a1 % I |

33.  Which number come in the place of question
mark?
9= forg & T W shi=-H dE manii?
3,5,10,12,24,26,?
(a) 48 (b) 52
(c) 28 (d) 30

Ans. (b) : IR,

3, 510, 12, 24, 26,
+2 x2 +2 %2 +2 %2

3Ad: 7 =152

34. Central Soil Salinity Research Institute
(CSSRI) located in
Hed wige wiarre fasl gmfeeTe (CSSRI)
et feora %7




(a) Delhi/feeet (b) Hisar//GdR

(c) Karnal/sh{ATet (d) Rohtak/J&de
Ans. (c) : 92 Aigd HaHe REd s (5 ga
TV STHEA M) F T a6 1969 § gRA0M *
FTA § goT a1l 39 gt % & § 39 oY & fau
IRG TR & PN T gR ARG FH ergu aieg
% 1 Tefua fspam o

35. UN General Assembl% declared Human nghts
on/S<h Y HETEHT i femarm
(a) 10 December, 1948/10 faHs, 1948
(b) 10 December, 1978/10 &), 1978
(c) 10 November, 1948/10 FaslX, 1948
(d) 10 November, 1978/10 HdsR, 1978
Ans. (2) : 10 fGHa, 1948 & Hgw TP T 5
‘UE SRR Y wEwiEs Soon & WieR fhar T

gl FE HROT 1950 H TS a9 10 RHR A wHd
AFR REw & ®7 § AGR1 S 81 9RG § A4
AHR F W &g AMG AR ffEm, 1993 % dgd
TET U SRER SN &1 TS fBAr T an 2023
T AR e &t fi9- @ & fou wdEar, sHEa
R =T 2

36.

In the context of Indian economy consider the
following statements about Market
Stabilisation Scheme (MSS).

S e & ded #, s R
T (THTETH ) % AR W fretaiad west
W &= st
I. Market Stabilisation Scheme (MSS) is a
monetary policy intervention by the RBI to
withdraw excess liquidity (or money

supply) by selling government securities in
the economy./dTSIR

(THUETH) ASIME. g1 Teh Uifser Hfife
e ¥ fd wwerdt wfaygferat s et
srfeeer ® sfafeh WXerar (I gw
JTYF ) =T U AT AT g

The MSS was introduced in December
2020./THTETH i feda) 2020 ¥ U9r feRam
= eml

Choose the right option given

below./fFraferiaa & & @&t fashew o1 =& &

(a) Both the statement I and II are correct/I 3R
11 ST e o @

(b) The statement II is correct/&a= I T& 2

(c) The statement I is correct/&g 1 Hal 2

(d) None of the above/SRI® § T HIF T2l

Ans. (¢) : IR RYGHOT AT (Market Stabilisation
Scheme) WRHT RS 3% g1 Hifss Hfd % ded g goi
TaE d 39 AR wEh v # iR s« @i
FouHiers WHR Fgfad o T fd &
(TEAT) % ST SISIR § oerdl &1 arag forar smar 81 59
¥ 2004 ¥ SRy foFar =T 7|

II.

37.  Find odd man out of the following.
frfafaa @ & IR €& & A1
1,4,9, 16, 19, 36, 49, 64, 81

(a) 16 (b) 9

(c) 49 (d) 19

Ans. (d) : §@l -

1, 4, 9, 16, 19, 36

[T1TTT

e 5 & F

3 HE&AT 19 99 2|
38. In cockroach fertilisation is

hiehirel | o= gaT &

(a) Both (B) and (C)/(B) 3R (C) &Hi

(b) External/amgd

(¢) Internal/3TdRe

(d) None of these/ZTH T Fig T
Ans. (c) : HHUE § 8= Wy A o F afiegem &
i BT 21 ST T loete TRt # 3R
e W Hifad B €, o MY &1 fmtor ger 21 e
el # AR e & 8|
ﬁ%ﬁa, Wﬁf‘ﬁ@ (Arthropoda) Y & Sig %I HHUd &
7@ # 13 F & 2
39.

49, 64, 81

11

r
(=]
[¥]

2

An example of horizontal group is

ST WYE 1 Toh AW Rl

(a) Chance groups/H¥Ta-l G998

(b) Class groups/a’ﬂC e

(c) Caste groups/STifd T8

(d) Peer groups/S@hHt RSB

Ans. (d) : TISETS |, TH TEHAT T8 (Peer groups)
T Sifi YU 1 3SR 21 48 UH A 1 Sefie g
g 8, e v, oy, goyfy o e Rufa gom
g 81 fpuiivaeen % dH, o wewdl wHE @ @
gure & qeft afemrt s dar 21

40.

India will develop a national strategy for
phasing down HFCs in the coming year, in
consultation with the industry and conclude by

AT ad ¥ FESIURT e (HFC) <Rl o
wA o T 3ET O WYt ¥ 9Rd U e

Turifer fererfaa s 3R ek THTS T
m

(a) 2024 (b) 2021

(c) 2023 (d) 2022

Ans. (c) : T 2023 T 9RT THR T AT Gaumahl &
Y EvIS WHY & 9% TS TEE W F ded
g@@&ﬁﬁ&ﬁq(HFC)%Wﬁmwﬁaﬁ
FOM| 7Y A 389 19 @ 3R Joarg aRadd
T | Heg forerlt ST At =t @ g
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41. The memory management scheme that allows

the processor to be stored non-contiguously in

memory is/_____ H HURI Yeitieh Teh WishaT oAl
ATeifed SUTTeer UHRT o Wod Tg | T g
(a) Paging/ﬁﬁm
(b) Spooling/=gfeiT
(c) Swapping/&fT
(d) None of the above/SWE # T Hig el
Ans. (a) : IR (Paging) TH HAN FeET S 8, S
sfepanetl 1 AEG F R-ufRd 9 9 Gl & &
A & 21 T8 Sy SR frew & adferar Aark
FAla F TF Teaqul B 7
42.

If by arranging the letters of the word
NABMODINT, the name of a game is formed,
what are the first and the last letters of the
word formed?/NABMODINT ¥1&3 & Ul <Al

RIS A ¥ Teh el T A0 o=dT g, 39

ITe2 T UgeT 31T 3ifearm oot or=ar &7
(a) B,N (b) B, T
(¢) N,D (d) A, T

Ans. (a) : NABMODINT 312 & U &l =aiked i
W ST @l & 99 BADMINTON 2|

3d: BADMINTON & TgaT 3R ifeq %R B, N 2|
43.

In a family, the average age of a father and a
mother is 35 years. The average age of the
father, mother and their only son is 27 years.
What is the age of the son?
T URar o, foar iR urar =t offma oy 35
e | e, Arar 3R 39k geheid A st 3rEd
Mg 27 I 1A HY I AT &7
(a) 10 years/10 a8 (b) 12 years/12 a%
(c) 15 years/15 ad (d) 11 years/11 ad
Ans. (d) : f0aT + AT =2 x 35="70

fqr + A + a7 =3 x 27 =81

a9 H MY =81 -70=1178
How many member states are there at present
in the World Health Organization?/agq'l'—l )
Torg TaTeeT W6 | fohd UEe U 772
(a) 189 (b) 190
(c) 185
(d) None of the above/3th H ¥ &5 Tel
Ans. (d) : 3099 § fog @R @ & FA@ ga= A
T 194 TS I T4 A Gog gaw g1 fay @
TS T T 3T, 1948 F A TR A1 @ HYw TP

T 1 UH FNOTR THE ¢ T UL, H O

44.

Reesreive & fomar vt & 21
45. Value of MPC lies between
MPC &1 71 & ofter e 8

(a) 0and 1/0 3R 1
(b) 1and 2/1 3R 2

(c) 2 and 4/2 3N 4

(d) 0.and 0.5/0 3 0.5
Ans. (a) : ST F F G 59{T (MPC) & 71 0’
S 3R AFA MR TR AT 0 F 1 &
T B S HAUT & % SR g AR I & AT al
quf &9 I IUGNT fHaAT S eher @ AT At quidar s S
Tehal 21 AfE ST # uRads o H uRadd & s
g, @ TAEE w1 A 1 g A gege e a9 S
2, @ wadid & == 0 B
46.  Vishing is mean for/fafyT AT HaTS 2

(a) Phishing/ff¥im

(b) Voice phishing/arad ¥

(c) SMS phishing/THTATH (AR

(d) All the above/3HI Tt
Ans. (b) : ¥ & =y afEw BRI (Voice
phishing) ¥ 21 78 T YR & QI gonfafiT gaern
2, ST B9 W T 81 39H i HL aTell SARE Hicd
e ATt AR S ARETT Ygde GaEl SIS e
¥ T b T T TG T F T F 2
47.

Consider the following statements about double
coincidence of wants.

ITATTRATAT o Q&L TANT & o #§ fefefad
HIAT WX fa=m &

I. When in the exchange, both parties agree
to sell and buy each other's commodities it
is called double coincidence of wants/STol

fafoma &, 991 var Toh-gEt A agel @
o iR e % e wEEa B § A s
STAITHATS ST SIEAT TN gl AT B
In the barter system double coincidence of
wants is an essential feature./d%] fafm=
Ut ® SITEal ehl Qg WA Ueh f~ramet
fergrea 21

Choose the right option given below.

frefafiaa & @ vt faemea &1 o@= =1

(a) Both the statements I and II are incorrect/h%

I 311 & o 7 2
(b) The statement I is correct/®e= [ Tal 2
(c) Both the statements I and II are correct/a1
e 1 3R 11 9 &

(d) The statement II is correct/®= I T& 2
Ans. (¢) : 3w § ‘TRl @1 AU wA &% fafme
YO & T U A Fewr 21 o B § 9w B
T 3 T TH-EW B gl B S iR @l F fw
Terd B § O 39 SEvISEasi &1 U YA FEar
3 99§ RU T 2 & F T 2

II.
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48. What is the missing number?

T G A RN

(@ 7 (b) 4
(c) 6 (d 5
Ans. (d) : N9 TFR,
V26+23=449=7
M J53+28=+81=9
3G THR,
J17+8=425=5
3d:

49. Which of the following gas is removed using
Scrubber?

frrafafaa & & @S-t i@ & BReT & 7=

T ESTAT ST TehelT 7

(a) Hy/@TEgIeA

(b) SO,/TTH STE 3N

(c) CO,/FTH BT 3lezs

(d) NH,/3Tifar
Ans. (b) : TFa8 (Scrubber) &1 SENT TH-Sfd TguH!
T GoHl ST 3RS (SO,) U ARSI & MRS
(NO,) ¥ 30 B Tehi &l g o fog Fam faman
ST 1 A Shel ATERoT H SgU0T S HH HH § 7Eg A
¥ 3R e ENE Tea 1 et Fd B
50.

One who emphasized upon uniqueness of
Indian culture and civilization and studying
Indian society as a whole is

o et denfa it wwear & fafdmar w
IR fear ik oy w9 @ 9RdE @us @
reTa feram, 2l

(a) The traditionalist/9{aaTa!

(b) The nationalist/TgaTal

(¢) The cosmopolitan/HTEATaTfIT

(d) The radicals/Afgshed
Ans. (a) : S RAT TEH 3R T S HREG W SR 3
N T Y Y GG G B HET B, WOEE
T 81 THT AH 3 A B G b @i f-Rarsit
3R AME T A 31 ¥ [ T A uReRE
AfeiebdT & W &4 © 3N I ageE TE B 9|
51.  If the letters of the word RANDOM are written

in all possible orders and these words are

arranged as in a dictionary, then the rank of
the word RANDOM is

e RANDOM 9¥Is€ o el ol |+l Hwrfaa
A # forar W 3} 37 vIsdl U IR
% WU H sHafied % U, 9 RANDOM ¥1sg
R SHA BT

(a) 616 (b) 613
(c) 614 (d) 615
Ans. (¢) :
A 5% 4 x3x2 x 1=51=120
D 5x 4 x3x2 x 1=51=120
M 5x 4 x3x2 x 1=51=120
N 5x 4 x3x2 x 1=51=120
O 5x 4 x3x2x1=5=120
R 5x 4 x3x2 x 1 =5!=120afF
Z7H 9 T 8 RANDOM 21
RAD=3x2x1=31=6
RAM=3x2x1=31=6
MO=2x1=21=2
I: ol FeYd hH =614

52. Enlargement of the thyroid gland is commonly

called as

gTERIgE UM T o BT WTHT=E:

THEATAT B

(a) Goitre/s=

(b) Hyperthyroidism/3Tfeersifaredr

(c) Cretinism/siTa

(d) Mutism/Hehdl
Ans. (a) : 9EYEE H H T GAT A FHEeA 81 IR
¥ Sad & i A (Goitre) I BT 21 S Y
(Thyroid gland) A & Tl § ¥a™-Teia 2fhar & a1
IR AfFm F A9 Reg wd T o g
(Thyroxin) Td ZHEIEEEURA (Triodothyronine) &M
forehorar 21
53.

Select the correct mirror image of the given
figure when the mirror is placed at line AB.

& g enefa W W quw wfafde g S
TUUT T [T AB W T@T AT &

u:>“§
3y

(a) (b)

7>

(c) (d)

vIbER

Ans. (a) : & T STHRT F G guur Sffere e (a) #
fe=m 21
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54. What was the theme of World Leprosy Day-

2021?
fary wre feam-2021 = Fa s @= ar?
(a) Leprosy is not what you think/®i a1 & 5
M9 g €
(b) Beat leprosy, end stigma and advocate for
mental wellbeing/ﬁﬁf& H AT, el HETA
FEAT 3R ARG T & THTerd HTT
(c) Ending discrimination stigma and
prejudice/TeTATd sheih S B BT FHE HTAT
(d) None of the above/3t H ¥ &5 Tel
Ans. (b) : o7 Fig (FB) W faw SHad & onfed
Foam 7 S 81 fay Fe fREg-20217 B FEE
9 (Theme) HE I BUAI, wheish THTG HET 3
S @R gefled & (Beat Leprosy, end
stigma and advocate for mental wellbeing)’ €Tl a
2024 ® THH 9 Beat Leprosy' 2
55. A is B's brother. C is D's father. E is B's

mother. A and D are brothers. How is C
related to E?

A, B &7 98 81 C, D T TyaT 81 E, B &1 & 21
A 3R D 9E 71 CHE | or Heer §7

(a) Niece/Hdrsit (b) Wife/deit

(c) Sister-in-law/9T¥  (d) Husband/dfd

Ans. (d) : T Heig AR Frefad -

Sn + HC!

AA |
or Fe + HCI is/e

(a) Ethanamine/’s’«’}qﬁ?
(b) Aniline/TfAfe=
(¢) Allylamine/3TaE@eTdA

(d) Toluene/ZTeg
Ans. (b) :

NO,
Sn + HC!/
or Fe + HC/

A

H A wfife A weRfT R w21 TR (CoHsNH,)
IS EG § ARG F IORE FESISHT AT
FARIS W 3T #1552 g/ TR fepar S 2

57. Which research technique would most likely be

used by a symbolic interactionist?

Ueftehtener 3ia:fepamardt grr ferm vmer den-ien

T el 3Tferek SU=T feRarm STam?

(a) Questionnaires/J¥ATIA

(b) Participant observation/dfamft ECCIET]

(©) Surveys/iﬁ?ﬁf”

(d) None of the above/SWE § T Hig el
Ans. (b) : SIS 3ia: framd grr wfqamh srace
MY dhie B GaW S IUAM g g1 il
FIAFT Th OIS WY TS F1 TTH wighdl, Wy
fPu ST @ Y A1 GYSE F TE@ 1 FAABT BT &
3N IR Tiafafer & S | W e 2|
58.

If 3 persons weave 168 shawls in 14 days, how
many shawls will 8 persons weave in 5 days?
afe 3 =afvs 14 Tt & 168 oifer g9 &, & 8
=fte 5 faml # fehar wiier gar?
(a) 160 (b) 90
(c) 126 (d) 105
Ans. (a) : T x I |

M,D, M,D,

W, W,

1 2
3x14  8x5
168 x
3.4
12 x
X =40 x 4

=160
31 § =Afh 5 fadl § 160 T

59.

In page tab,
the print./ﬁﬁf ’

HEH 1 Sg o forg 2 €1
(a) Orientation/3TFHEIHTIT
(b) Paper size/®ITST T SATHR
(c) Page numbering/JBishd
(d) Scaling/FAT1eHOT

Ans. (d) : U5 29 §, G9FHT (Scaling) &1 S fiiE
F T A dPH & AT B 1 A § U9 W ARR
e ST 21

60.

is used to reduce or enlarge

&1 wE i =

In a certain language, TOOK is coded as 61,
CAN is coded as 18, then GUAVA will be coded
as/Teh 9T § TOOK & &e 61, CAN &1 e

18 €, @ GUAVA T &%e g
(a) 57 (b) 52
(c) 62 (d) 54
Ans. (b) : 519 JR —
TOOK =20+15+15+11
=61
CAN=3+1+14
=18
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3T YR,
GUAVA=7+21+1+22+1
=52

3T GUAVA & %< 52

61.

offences cannot be investigated by the
Police on their own, unless directed by the
courts having jurisdiction to do so.

UL w WIe YT UA-IT L | | i

& THA! T deh R AT gRT 3 k|

= feran T fEeR SfireRr ® 98 AT 2

(a) Non-bailable/T-SH

(b) Cognizable/S3HTcHS

(c) Bailable/SHTdt

(d) Non-cognizable/ﬁ?-qﬁﬁﬂaﬁ
Ans. (d) : T-GFHHS TGl S ST gferg S79-37T
T W GHRA 2, 5 d% 6 39 e g 39 R
T fpan WU fges emieR # a8 ot @1 g Aol §
gfe e|ed # WE oAl W fw & fam A @
AN &) T Teohl @ S 7 & Sfg T Tebel @ 37K
T & e st gt 21
62.

An electron having mass (9.1 x 10°' kg) and
charge (1.6 x 10" C) moves in a circular path
of radius 0.5 m with a velocity 10°ms™ in a
magnetic field. Strength of magnetic field is

T (9.1 x 107! ferzm) i) 3marwr (1.6 x 107
C) T Teh S Ueh Sk & | Teh o
10° @A & "y Breer 0.5 M. & ww g
Ty B YW TET ¥ Gk & IE §
(@) 3.6x10°T (b) 1.13x10° T
(c) 28 x10°T (d) 5.6 x10° T
Ans.(b):ﬂ'@ﬁ'q%:?
~9.1x107 x10°
C1.6%x10°x05
C9.1x107 x 107
©1.6x10"° x5
=1.1375x 10°T
=1.13x10°T
In which battle Pulakeshi II  Kkilled
Mangalesha?/geerstt 11 3 ffE I5 o HITAIT
T e TeRam ar?

(a) Ellwattusimbigemﬁﬁiﬁﬁ
(b) Manimangala/A{OTHTe

(c) Suramara/gUHT

(d) Narmada/HaT
Ans. (a) : TIF 0 (A 6 TG IMHH TeAhei-I1 =
TG % g5 H I T W B a9 H G W
Feo foFam o1 WeTRe W o F e qeeRsfi-ll @
I7| 3R HaEH Pl FUH THAL F UMY gy A |

63.

64. is used for tracking inflation.

_ TSTERITT T UAT WE & ToTT W BT 2
(a) WIP-IW (b) WPI
(¢) CPI-IW (d) CPI
Ans. (¥) : Wﬁgﬂﬁﬁnﬁ%mwm
S aTet & Wafih gl UM qod gashish (CPI)
SR o qed oS (WPI) &1 W § 3w qed

TSEHIT B AGH H TH THE Ghdd ©, o

wﬁwﬁmwﬁaﬁwaﬁw Fret §
Wﬁwélﬁﬁ%ﬁﬁqﬁﬁ(MP)Wﬁaﬁ
feifa s % 3 C @awwm | Sirnfies
aﬁaﬁ%mcm ,5@[ f?frq CPI-AL
adtor Aol % ford L & WA & 81 WPI
meaﬁaﬁﬁm T It SitEd uRed
A S 2 9Rd § WPL § wefis awqd, dF R
forstelt e fafifa I wnfrer 21 gRamm gferw o & 3
T 3 (c) faan 7, i 3hm @ 2
65.

The calendar of the year 1992 can be used
again in the year/1992 <ht Houet e @ form

I8 SUANT feRaAT AT Hehal &2

(a) 2016 (b) 2010

(c) 2018 (d) 2020
Ans. (d): T8 1992 T Heivst O § STANT A o fed-
e T a9 § 28 S gedl @
3@ (1992 +28) ad

=2020

o ad 1992 1 FAvel T 2020 F G fFA S
e B |
66. H.C.F.and L.C.M. of p’q*r® and p°q’r* are

3q4r6 3’ﬁ'{'p6q2r4 & TEEH s T
g
(a) P'q’r, par. (b) p’q’r’, p’qr’
(©) pq’r, p’q'r’ @ p’e’r’, pq’r®
AIIS (d) p3q4r6 p6q2r4
H 9 = p q rt
a9 = p6 q4r6
37a: faed (d) 9 2|
67. is one way encryption algorithm that

does not use any key to encrypt or decrypt the
data/ Uk Rl SHeEwUT

TTET N Feag H AT FE Gier 3 o el
Eaikcal T T e
(a) Symmetric cryptography/fafafes fope ot
(b) Public key cryptography/dfscieh ﬁ [EasAE kil
(c) Secret key cryptography/Eishe Fsit fshee et
(d) Hash function/231 et
Ans. (d) : 29 Wb (Hash function) Teh At HIHT
TR 8, ST ST B Feam F a1 % TieH & g
fepedt ot sl AT & A &1 Te U TORT Herer 2
fSge s et wre a1 demstt @ o= ¥ g 3we
F % forw fopar St 21
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68. Name the deposits have a fixed period to

maturity/Sq AT T A0 SdE¢ Sk Tk

Tafye aftuererar rafir gt &

(a) Recurrent deposits/3Tgftl ST

(b) Time deposits/THI STHT

(c) Current deposits/dTe] STHI

(d) Savings deposits/a=d STHT
Ans. (b) : 259 U (Time deposits) a1 THF ST
= feuifore o wa1 I 2, Te TS AW i &1 gud
GRS T 09 999 91 o {0 §e9d &9 & | TF
fafye Tfer S/1 e @1 78 S W AR W $w W 9
AR B AN b A9 & Gl 31 S AR W, TG Fham
ST T F T F e (HRR B shar @1 Sl 9,
HTe] AT 3TN e ST Sl H ST % 31 YR 2
69.

Drug prices in India are regulated to ensure
continued availability and affordability of
essential lifesaving drugs with improved access

to consumers by

aRa # 3o s ae BT SUHIRISH
TR HINTUA TS & WY AEvEeE Sa-ReTh
e & ey Suctedr R ag-iadr
giafya & & fore frafua st €1

(a) National Drugs Manufacturers Authority
(NDMA)/ATAA  §79 fenfit
(NDMA)

(b) National Drugs Authority (NDA)/A¥Fd 79
3RS (NDA)

(c) National Pharmaceutlcal Pricing Authority
(NPPA)/AYFA  ®MiEfesha wefim  sfanfet
(NPPA)

(d None/®E e

Ans. (c) : 9Rd H 3Rl & qo AV wEiEeHd
TR TR (NPPA) S0 Susiihsti a& Henfad wge
F Y AEGYAS Sfaersh SeE # FRE STear 3R
Tt 1 g FW % o Fafd s 81 e
(NPPA) &I T3 & 1997 H 9RA THR FNT WEA T
IqE AT F ded AN 9N F TF Yo R &
AR W fpar T o

70.

A group of districts form a which is
looked after by an officer of the rank of Deputy

Inspector General of Police.
et =1 T 'E T AT § S gfere
ST UEI=R1eTeh IS & Ueh MRIGRRT ol I@Wer o
REGIR
(a) Division/Hgel (b) Range/’ﬁUﬁ
(c) Circle/3i=a (d) Block/&s
Ans. (b) : Nl &1 e ST s Sl (Range) <l
fomfor sear €1 5% gferd ST EE 1T % uw st
N TG | el 8|

71. The coagulation of egg white on boiling is a

common example of of protein.
JAE W T F The 9T W Whed NET F
T IS 2

(a) Rancidification/Tf&rd 4l

(b) Oxidation/39adq

(c) Denaturation/ st

(d) Densification/setuT
Ans. (¢) : ST W 3UE & GhE 9N F Whed T &
fa9hfdehtuT  (Denaturation) T 3IIEIT g1 WA
ferepfarenor, S ot S fhareiicr & T8 89 w gt
21 9 B T B W A Tt s 8 e w
W T8 a3 Wi 2R Ifqea & ir 21 S &
feepfeieheor @ S & wiefves waT srRafdd e 8,
e fgdtass wd gt S & aRads & S 21
72.

From the given answer figures, select the one in
which the question figure is hidden/embedded

(Rotation is not allowed)/fr Tl'si I 31'@%'&?[
# & w amgta g R v st gl
T/ § (gAY rgute 7@ E))

>~

Y ) e
o< I

‘Ans.(d):m(d)ﬁa@ﬁ%@f@%l ‘

(a) (b)

(c) (d)

73.  Which pair of rational numbers lies between %
and 32/ 3 3 & o i wesi &
I I EA?
(@) 9 2 (b) 262 752
40° 40 10001000
24 74 252 748
() —,— (d) ——,——
100 100 1000 1000
Ans. (d) : IR,
Loos
4
32.75
4
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foeeT (d) @ -

B2 _ss

1000

748 _ g

1000
aﬁ:w%ﬁqﬁﬁaﬁw%aﬁ?%%aﬁﬂ
252 748
1000’ 1000

74.  Ascaris causes disease in

TR T T AT B

(a) Heart/g<d (b) Intestine/3Tid

(¢) Eyes/9d (d) Brain/af&sh
Ans. (b) : TEHRE a1 TEHINATGY 37id | B4 el U
TohAUT 21 98 TS (el FM) H TH Fofd 7, ST T
TER T TSI FH 1 AHAR W G el arel &t
# @ A At § =g S @l 2
75.

The paid servant appointed by East India
Company to supervise weavers, collect supplies
and examine the quality of cloth.

FAHA o UL, 3MYfd T SR aTH
e wdhen ?F $R ifEEr g g
FaTHI Hereh

(a) Gomasthas/THIRTT  (b) Zamindars/STHIER
(c) Lathiyals/a@fdarad  (d) Jobbers/ST&R
Ans. (a) : TIHU &k THAGUT, UM THAT R FH
TR H e B $% sfeA g frE adwantt T
(Ha) TATeAT FHEAT ol
76.

FDI in food processing is to the extent of

T THERTUT § THET3E e B

(a) 100% (b) 10%

(c) 75% (d) 50%

Ans. (a) : 9RG H W SHEHOT SAN H o qnt &
T&d 100 wfoer st faeht faer (vweters) st swmfa
2 9RG H s9 A I @ SRl § -Fmd g
R & fT T oHes At & SRe 100 e
THEIME R UG 1 W TEEH &7 g
F gag a2 gl §  UH 7 3R THH IcURA 2025-26
T 535 INE SR o Ugud 1 SHiE 2

77.  If the third day of a month is Monday, which of

the following will be the fifth day from 21* of
the month?

fe Tk A8 & w0 T Wimer §, W % 21
| uferen fe Freafafaa § ) =i gm?
(a) Wednesday/d5@R  (b) Monday/HIFaR
(c) Thursday/T&aR (d) Tuesday/HTeTaR
Ans. (a) : & @ 7R &1 d0 e = 9meR
R & 21 + 5 =263 f&T
3,10, 17,24 s GHaR M
HIWaR (24) + 2 = HAR

78. A man can row 6 km/h in still water. If the

speed of the current is 2 km/h, it takes 3 hours
more in upstream than in the down-stream for
the same distance. The distance is

e 3TieHt el il 7 6 ferrlteier it TR @
e Wehar €1 e &wT @t Tife 2 fereht wier €, @
T g o T ST & gerT | SeA-w
o 3 o2 erfres woa o €, T ¥

(a) 32 km/32 foret (b) 30 km/30 fopelt

(c) 20 km/20 forst (d) 24 km/24 frHt

Ans. (d) : 911 $1 gt =d
g & =@ = (R) =2 km/hr
3EHT A = (B) = 6 km/hr
TRAMER,
_d 4y
6-2 6+2
d_d_4
4 8
d_j
8
d=24km
d: F g =24 km
79. In Excel error occurs when the cell

reference is invalid.

TR E gt gt & v e e vy

BT 21

(a) #DIVIO! (b) #NAME?

(c) #REF! (d) #VALUE!
Ans. (¢) : THIA # #REF I 7@ famrE it 8, 5@ F
T el T 97 # gehld & g, S 7 T 2 T
TEI: 37 Ul H gIH h HRUT &I & o G IeerE
@ 7
80.

The cost of having a little more of one good in
terms of the amount of the other good that has
to be forgone is known as

ferelt areg 1 et W1 IR Rt ot aeg
AT o SEet § oA N Big a1 o,

HEATAT 2

(a) Replacement cost/Sfa=arq &

(b) Historical costf@ﬁ%m IR

(c) Opportunity cost/3TH AN

(d) Accounting cost/TRaT AT

Ans. (¢) : TH ANE H {5t =afth, @@ a1 A
3N WIT T A9 a1 G & ®F # IRAT a1 S 2
T8 79 B 2 I A/ $ I YA B &
T ¢ foheq AT 81 AW AV F A FAMH
foehed % &9 # 9t TR H 81 U Fhieus AN &

9 G o ST S 2
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81. For a certain metal, incident frequency v is five

times of threshold frequency Yy, and the
maximum velocity of  coming out
photoelectrons is 8 x 10°ms™. If y = 2 y° the
maximum velocity of photoelectrons will be

forelt emg & for, emafea smgfa y Hir smgfa
Yo Tt TS T[UT § 3T 9MEX 3 W WegAai
wt STRIHAT AT 8 x 10°ms™ F1 Afg y=2¢° A
WHISISAG I ohT STFIShaT T ERTT
(a) 1x10°ms™ (b) 4 x 10°ms™
(c) 8 x 10°ms™ (d) 6 x10°ms™
Ans. (b) : Tafdd gy = °
Ffad ER ¢ = 5¢°

1
Shy® —hy* = Emv1

31'@'?34'@[%[7:21/"

2hy® —hy® = %mvg

g, (i) +

<
)

x10°m/s
3 Cﬁ?@?ﬁg‘ﬂ&ﬂ HRHTT 9T = 4x10°m/s
82.

Saroj doesn't like Dipankar, Pooja doesn't like
Saroj. So it is surprising that Pooja's son
Hardik likes Dlpankar

TS Uit i UHE & Sl §1 IS TR Bl
W‘c{qﬁaﬂ?ﬁ%lgvﬁm%aﬂ&ﬁaﬁm%ﬁs
ST o oI gifdeh sl diuieht UHg §

Which of the following, most strongly, weakens
the above argument?

frafafgs § @ ®9-91, ¥od ¥od ®0 9

IURITh ek ohl AN T B

(a) Hardik does not like Saroj/@1fés TUST &I THE
T T

(b) gooja likes Dipankar/qsT E9ie Pl TEE HTAT

(c) Hardik likes Saroj/@Tf&s &l TIe 6T &

(d) Saroj likes Pooja/G@IsT ! ISl TEE &
Ans. (b) : f%hcd (b) ‘IoT Ui B TE= F B R
T T P T & H BASR BT 8 FlH T H AR
ST i B TER T B 2

83. The difference between the Revenue Receipts

plus Non-debt Capital Receipts (NDCR) and
the total expenditure is called

(NDCR) 3R & &9 & e &1 3fav

TEATT &

(a) Trade surplus/ZTIR 37T

(b) Fiscal deficit/TThIS= 12T

(c) Trade deficit/=aTIR =T

(d) Fiscal surplus/TsTehda STferery
ns. (b) : U Wit SW1 WORRA dof wiftdat
(NDCR) 3R Fa =4 & &9 H M TS =
(Fiscal deficit) Seelidl 8| USTMIT ST GWHR &1 39
3R 3ITF T H W 81 T8 Wl Al § TER A et
Syl SavgSael & R AT @1 39 WET 1 ST
TH T 9v | R 1 amafgs A & i
W & e fovar S 21

84. Where is the Great Bath of Indus Valley
Civilization located?

g =t &t T & faere TE W (A

e ) el u¥ e €72

(a) Kalibangan/®lelisi=

(b) Harappa/gg™l

(©) Mohenjodaro/ﬂ}éﬂa}a@

(d) Lothal/@teet
Ans. (¢) : T8y =& T & foemed ©H W (FEIR)
Heeiarel # Rud 21 9@ ¥ wF Wi W A9 qw a9
Ll (qyEfeATe) & A off fieh @1 Heesieet wihEE
F g wid & e et § Ry 9 F fFAR R 2
TR AT 1922 H TR st o S o

85. 10x10x10+(20+10x10-10)+6=7?
(a) 106 (b) 108
(c) 114 (d) 111
Ans. (a) :
?7=10x10x10+(20+10x10-10)+6
=1000+10+6
=100+6
=106
86. Secret key cryptography is also called
EiReanpiedien) off wga

(a) Symmetric encryptionfﬁﬁ% LCIEASE]

(b) Asymmetric encryption/TfHfAfESH TAfch™

(¢) Plain encryption/<i= TAHR

(d) None of the above/S™ | ¥ ®I§ el
Ans. (a) : MO it fGrenmd & ffifes wfrem
(Symmetric encryption)’ Fed 21 TAf TfshwE 22
B R T R MUAET R SEed Y&H B &
ferw swmTer it 9 At T fafy 81 s ufhee s
fefir & forw s & St @1 sxawa foran S 1 59
T St A1 st ol Gerien off et S
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87. In this question, two statements are given

followed by two conclusions. Choose the
conclusion (s) which best fit (s) logically.

3@ WA #, & o fau g € R W @

foreet R T §1 A Frewd v St Al w0

¥ gafaw i o

Statements/h e :

1. Some A is B/&hS A, B Ky

2. Some B is not C/&S B, C & 2

Conclusions/f-Tehd :

L. Some Cis B/%s C, B 2

IL. Some C is not B/&s C, B &l #1

(a) Both conclusions I and II follows/a1 frsh 1
11 SFERT LT |

(b) Only conclusion II follows/aa fo=d 11
STTEROT T 2|

(¢) Either conclusion I or IT follows/aT ar s 1
7 11 SFER0T BT & |

(d) Only conclusion I follows/daa  fT=ps 1
STTERT A 2

Ans. (b) : 37 3G TTH R -

QS

37: WE ¢ b Shaet Frepe 11 STERoT 3 7
88.

Recently erupted active volcano from Mount
Merapi is in .
TEE Wt | A & A Hed aren |fwd
STATHEt T gl

(a) India/¥Rd (b) Myanmar/THR
(¢) Indonesia/ZSRTT  (d) Sri Lanka/$ficist
Ans. (¢) : AR Wl fERfmEr § fRed uw 9T
SATE! (Active Volcano) R e 596 1@
Y gAY ool g3, NG, 9y ey uare aet ke &
2, 3% ufpg wamEl Fed g1 Su-fRay (gaRdm),
FER (FFEER), dH LU (3iEHH), ARvE EE
(FieTia) |
89.

is the process of changing the
appearance of text and making presentation
easier to read.

R ol SAEE I uRafdd @ i
T Y U o foTT ST ST Sl wizhen R
(a) Adding graphics/afueh ST

(b) Formatting/dT&901

(c) Editing/gure

(d) Presenting/ﬂ?ﬂﬁ%@'{

Ans. (b) : &1 9t S &t @ & IRAfdd B 3R
T H Ued & AU FEE g W & §fRAT WU
(Formatting) 2

90.

Cars are safer than planes. Fifty percent of
accidents result in death, while only one
percent of car accidents result in death.

fomm & oft somer gRftre & wm) fomme gefenedt
H wore wfavr gog Bl ¥, sats wae
wfereta R geleameit § gog et %)

Which of the following, if true, would most
seriously weaken the argument above?

frafafga & ¥ @E-41, afe 9 ¢, @ W
e T ek @t wEw T WU | AR wam?

(a) Plane accidents are usually the fault of air
traffic controllers, not pilots/fAME '
AR W gaTE I et & et ¥ gl
g, 7 f ureRl S Terd @

(b) Planes are inspected more often than cars/&W
I qom § faue @ et ar e e
el &

(c) Pilots never fly under the influence of
alcohol, while car drivers often do/9Icie &
ff TNE F T OH ITH T WG T@(h IR
Heieh 3T UHT B &

(d) The number of car accidents is several
hundred thousand times higher than the
number of plane accidents/®R Feeatal H
T foue gHeAel & §em 9 &% arg T
s @

Ans. (d) : fF@ed (d) ‘FR FHART A FEn e
TRl F e ¥ % a9 T s @RI T ad
' FIY TR Y § HAGR BT & S b F FR HI
fomm & qaer § @ e T @ safE fawed (d) H
T T 2

English Language
Fill inthe blank with appropriate phrasal verbs
from the alternatives given below it.
He business in the absence of his father.
(a) carried off (b) carried out
(¢) carried away (d) carried on
Ans. (d) : & T Sentence & i WM W ey (d)
‘carried on’ (ST TaT) BIT| 3771 farehedt & 3 2-
Carried off — §%aT g3
Carried out — fdfl ST &1 FTT S Ueet et A1
Carried away — fel S &I TR g7 AT I g

92.

91.

In the following question has four words
(options) of which three words have a similar
meaning or are synonyms one of the words has
a meaning different from the rest. Select that
word/option as the answer.

(a) Distinguish (b) Differentiate

(c) Licentious (d) Discern
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Ans. (c¢): g ™ e § ¥ fawew (c) ‘Licentious’
(3ifaes) R 8, Sfs 3F fahed TF TR % synonym & |
o= faepedi & ot 2-

Distinguish — g HET

Differentiate — J¥h h{Al

Discern — 37X Ggdr-T

93. Choose the right synonym of the given word.
Charity
(a) immaculate (b) blame
(c) benevolence (d) defraud

Ans. (¢) : @ T Word ‘Charity’ (WUHR) &

synonym T (c) ‘Benevolence’ (9aTE) BT
I fashedt o a1 §-

Immaculate — SgHT

Blame — &9

Defraud — @higell LT

94.

The following sentence contains grammatical
error or idiomatic error in it. You have to find
out that part of the sentence and choose the
alphabet of that part as your answer.

No sooner had I reached the office when I got
the news of your arrival.

(a) news of your arrival

(b) No sooner had

(c) when I got the

(d) Ireached the office

Ans. (¢) : f&@ T Sentence H fawe (c) ‘when I got
the’ % TIM W ‘than I got the’ BN | i No sooner
% T than N AT a1 ST R |

95.

In the following question, part of the sentence
is underlined. Below are given alternatives to
the underlined part at (A), (B) and (C) which
may improve the sentence. Choose the correct
alternative. In case no improvement is needed,
your answer is (D)

Kiran was so afraid that his knees knocked one
another.

(a) both (B) and (C)

(b) each other

(c) one against

(d) no improvement

Ans. (b) : f&@ T3 Sentence ¥ underlined part ‘one
another’ & TIH W f%ed (b) ‘each other’ B Fifeh
aqH fTT each other @1 Y M & ¢ one another

1 FANT &I 8

Ans. (a): T TF a9 v 8, g qgwd @ g
&t I g dewd v 2, Fge aem wuen ga qon
T EA| T ¥ Y g YA YR YR HEeld
21
97.

‘o W SR, Ig SRl hgatea § ¥, 39
wW ared ¥ Fgfery)

(a) T THEM o9 TE 9T

(b) T&E F GHM =1 S|

(c) THE FWHH &= Hehell 21

(d) 378 T+ 7|

Ans. (b) : THE THME S9N TH Hodred & 3@ 8,
SR e § Fad S-TEE g HE S S|
FHared, fpa & 3° ®Y B Fed &, FH H ge
21 e fohar & dew der w4 9 g 21w fha a6

fefT @it a= d & IR & 2

98. = |3 AT WeATH IIsal i fergrudr A et
TIR_ wEd R
(a) Foram fergoor (b) faers
(c) (d) T ¥ FE T

Ans. (b) : 57 91 o1 g vea # RIS S S
2, 3% Ay @ed &1 S v Ty’ & fewivar A
3% faQIvuT vee Fed &1 S-98 e WSl 81 A #
‘Frer’, fagoT 3 Hren, favs g1
99, S YN I @R T W, Tg T
ek oAl 3SR B
(a)
(b) =TT
(c)
(d) 39 T 1 7
Ans. (a) : ‘T=I IR H GH S T T H ‘FH FRH
1 AN g 21 FH IR H fauE fw F oS 2
T AT HETW F T ®Y F G & AT TR b @Y
TR T Ged & 3§ FRE Fd B
100. arg o ¢, S feRelt g vIeg § F &
B, SAH-RTHT, ASAT, BT AT
(a) RO
(b) =T
(c) 9
(d) T8 § FE 7

96. 'TU’ TH qAWH VL ¥, _ IHH dLHd
T T
(a) =& (b) #f
(c) 34 (d) 3 ¥ FE T

Ans. (c) : 9 VIR, ST RS T Wk ¥ T 94 @ 3% qA
u1q FEd €| S9-H, 91, FA skl S oang R
TR 7= T 5 I 2 F A0S 1 e 21 A9-r
g O, ‘faear 9 ‘fasamr aafe)
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FRATUT Yiere shivearet udter, 2021

ST Aigd &1 Wo1-3

e uteft (SET-1) (urrerr fafer - 2 J&er, 2021)
1.  The highest rainfall place Mawsynram is HUT ATHT o 32 TAT § il War §1 Sk
situated in the? X
. . e |t 64 w1 fuen fean wmar 81 fwaw
waifireh ol STett T Wit et e €7 = & A e 30 T T s 2
(2) Garo Hills/ I weifsai (a) 4 (b) 16
(b) Naga Hills/ArT wgifeat (c) 12 (d) 8
(c) Lushai Hills/cR1g gaifgai Ans. (a) : T,

(d) Khasi Hills/arft wgifeai
Ans. (d) : Gt a6t e e Hiee T seisar
¥ fo 21 @l weIfsa Aued ToF % R ger #
fort 21 =g weifeal Bfewr e & sr|w o & 9 9
2. Find the missing term in the following series.
frefafaa §Eem § T ug &l J1d it
8,24,72,216,
(a) 252 (b) 648
(c) 328 (d) 272
Ans. (b) : TEER, & T s@er e 2-
8 24 72 216 648

| | | | )

%3 %3

3:
3. Which of the following Articles of the Indian
Constitution deals with Right to Education ?

R gfaa & faefafead & 9 wie-4r

%3 %3

=g Porem afrem & wafim & 2
(a) 41B (b) 21A
(c) 51A (d) None of above

Ans. (b) : IR HfFeM 1 SERE-21A form & sifsR
T GO 71 SIE-21A(E) H 86d UM Hemed
Afufrem, 2002 5 RwrT & @R @ ga R
T A1 b SFTER, TST 6 T 14 ¥ F Y T F
Toff a=al i 3o wd e e Sude Fuwm|

4. A cube is cut into two equal parts along a plane
parallel to one of its faces. One piece is then
coloured red on the two larger faces and green
on the remaining while the other is coloured
green on two smaller adjacent faces and red on
the remaining. Each is then cut into 32 cubes of
the same size. The 64 cubes are then mixed up.
How many cubes have two red and one green
face ?

T U9 I & WA 9 A IHK Tk BeAh h
TR THAS oh SI(EIT hreT Wrar ¢ R T
The T 9 YBI W el AR 9T W e T/ a@w
AT §| S gER oh qF BIS FEH UST W
3T 99 W AT T F T AT §) R g v

3 agﬁ‘qm% 32 Wﬁgﬂ4ﬂ?®%f@ﬁ?ﬁm
3T TH YD g1 T FA CH T F T 4 2

5. A got 30% concession on the label price of an
article sold for Rs. 8,750 with 25% profit on the
price he bought. The label price was?/3ifehe

e W 30% H YT & WA A Tl TH o0 &
8,750 ¥ Sreft ¢ FT Sk TR W T T W
25% ST A T3 T 3ifehad Toor o & ?

(a) ¥ 12,000 (b) 210,000
(c) ¥ 16,000 (d) ¥ 13,000
Ans. (*) : TER,

30% 3 B & WF T % < 8750 F o= T
28750 ,70% % IR &1
3ifehd qed = 87—(5)0 100 =% 12500
37 % 1 Sifhd Ted T 12500 2
6. Which of the following is the water conducting
tissue in plants?/fF=fefiaa & | SHI=-4T Ul
T ST HaTesh Hah ¢ ?
(a) Xylem/STige™
(b) Collenchyma/HTc-shigHT
(c) Parenchyma/a%rﬁ'lsm
(d) Phloem/9TH
Ans. (a) : TS H ST YAGH b A5 g1 ST H
Td HE T H ST a R Ul 9% ugen 8, adn
7 Ui el 1 o TR AT B |
7. P is brother of Q, R is the sister of Q. How P is
related to R?/P, Q T ‘ﬁl'l's‘ T, R, Q &l o8 P
R ¥ o yarr weifr & ?
(a) Uncle/HM™n (b) Sister/ggd
(c) Brother/sTT
(d) Data inadequate/\ﬁ%@ LD
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Ans. (¢):
B
o
W .
RE

P,Q & WE 8 37: P,R & 4 9E |
8. Which of the following is not the Sustainable

Development Goals (SDG) of the United

Nations (UN). ?

frafefea ¥ § ®E-91 69w g (IAA) &/

e fererma orear (wadish ) Tt & ?

(a) Gender Equality/feiT GHaT

(b) No Poverty/ﬁ{‘acﬂﬂT Tl

(c) Zero Hunger/S T &R

(d) None of the above/3TI™ § T HiF T2l
Ans. (d) : 9% T§ # fawd @eF aaae did &
HEATIFAS F G B 3] GHE &, T e 2
Tgeh TP 51 a9 2030 T 17 fawm aredi & W e
&1 3qeve fwiRa forar e 2, f o wwran, fedaa
&, R E enfE e 2
9. Rahul, Amit, Prakash and Gaurav are sons of
Ram, Sunil, Pratap and Sameer not
necessarily in that order. Each father has only
one son and the names of any father and son
pair do not start with same alphabet. Prakash
and Gaurav are not the sons of Sunil or
Sameer. Sameer is not the father of Rahul.

Pratap's son is./{geT, W, WERTIT AR R,
T, G, UaTd 3 @Y o 9 § Sl @
for seht @ § €y e o et T &
g ¢ iR fereht oft foem sfe g &t S &
AW T & IR | PE AL & & FeRwr 3
e gt a1 'R & g T € 'Y age
w1 foar 9 € waT™ @ g i 27

(a) Rahul g (b) Gaurav/Td

(c) Prakash/SehT1 (d) Amit/31fHd

Ans. (b) : IHR,

Q

EEIN]

T
3F: JATY 1 G NS B
10.

19347

in an OS (Operating System) refers to

the process of managing various devices
connected to the computer.

e

Tk OS ¥ wr wedl dhwpex § St
e w1 gee e Y whEe A R

(a) File Management/®Tscl Jeied

(b) Memory Management/ﬁ‘ﬁﬁ ECLE]

(c) Hardware Management/ﬂl@ﬁ'ﬂ? EECE]

(d) Device Management/gfth Jsier
Ans. (d) : TF OS (TR feen) § It voem &1 dad
Fe ¥ I fafee gReat & weed B F Al F 2
11.

Who discovered Peru ?

U st Wi fera &t ?

(a) James Bruce/SHd ESl

(b) Jaun Cobot/SI< &aie

(¢) Francesco Pizaro/Sifa&hl fo=ii

(d) Mungo Park/ﬂ"'ﬁ T

Ans. (¢) : U8 1 @I 1532 §. # i =@ 3 fFan
oanl U% Rl syader # fRud ww 3w @1 Rrgat Teme
& 2

12.

Out of 10 teachers of a school, one teacher
retires and in his place, a new teacher of age 25
years joins. As a result, average age of teachers
is reduced by 3 years. The age (in years) of the
retired teacher is

Tw T § 10 e § ¥ U Aantge w
AT & S Wk T WX 25 99 SW Rl Teh 4T
ot frges Bram 31 39k aRummerEy fotereht
&t a7 3 96 A & Wt ¥ A Farga
Toreres ot Sy fRa & (e &) ?
(a) 50 (b) 55
(c) 60 (d) 58
Ans. (b) : I S 39T 37 X' 2|
e Yarfga fnerss =1 3% y 21
S =@ 10 TRl @1 3W = 10x.
T vt &1 37 25 o B
. FA 3 =10x—y+25
7 3iHd = x - 3
TR,
10x—y+25
10
10x —y + 25 =10x-30
y=25+30

1d: arfg s & 37 55 ¥ 2

13. In a row of girls, if Seeta who is 10™ from the
left and Leena who is 7" from the right,
interchange their seats, Seeta becomes 15"
from the left. How many girls are there in the
row?/AIgfeRal sl Ueh Ufwh o, Ife et and 4
105 & i o <t qrd & 7ff }, e ® v
SIgeTdl &, ar Hrar o § 159 g St §1 ufs o
Terat ereferat & ?
(a) 17

(c) 22

(b) 21
(d) 20
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Ans. (b) : TAER,
ATE ¥ WM gge § 98 oA 1 H & § 74t 81
W 98a & a8, S W oA H1 a1 F 3 G
o g S fF ard § 154t 7
3T U J go @efhal = (15+7)— 1
=22-1=21
afa: ofts # Fof 21 aefRat §
14.

Green Revolution in India started in the year
TRA W ERA I o6 ¥ JE 3 |

(a) 1998-1999 (b) 1978-79

(c) 1967-68 (d) None of the above
Ans. (c) : T # 3R HIfT a6 1967-68 § IRW g5 41 7
TG YRY R F 97 1. TH. TY. WA $ R S )
Zha wif ez 3WRa F @1 faferm e & 3 & A R
foea § aRa #fd & wo Ao R e swier F
3t <F. A SR B AT S 2

15.

In a certain language, TARGET is coded as
202018751, then BITCOIN will be coded as

Teh 9T W, TARGET &Rl 202018751, & &9 W
e oG feran S &, & BITCOIN &t &
wY | FHe g fRar s

(a) 2015149392 (b) 2011549932

(c) 2015194932 (d) 2015149932

Ans. (d) : 59 99R,

EEMCIEL I I i

8

TARGET

<0

E A
$
51

[
=
-2
=

34 IR,
BITCONTRE T o N1 1 C B

BEAEER;

2015149 9 3 2

aims to boost employment in formal sector
and incentivize creation of new employment
opportunities during the Covid recovery phase.

W T hifae AIqHl WO 6

= el & °§ AR U gieg &ween iR

T AR T Rl TR HET

(a) Atmanirbhar Bharat Rojgar Yojana/mﬁfﬁ(

JRA USRI

(b) Indra Dhanush/g5 &%

(c) Ayushman Bharat/3TTeATT 9T

(d) MANAREGA/ATT
Ans. (a) : AN 9RA TSFR ASHT (ABRY) F1 A6
FHifgs Aot graeen & <R Sft=ie & § IR # giy
AT T AT ISR el 1 Ned1iead B 8 1 g9 Fer
F 1 IFFER, 2020 HI TR fHar 7 oM
17.

16.

Lata moves towards south-east a distance of 7
m. Then she moves towards west and travelled
a distance of 14 m. From here she moves
towards north-west a distance of 7 m and

finally she moves a distance of 4 m towards east
and stood at the point. How far is the starting
point from where she stood ?

A efur-ud 7 . st €1 R afyem # e
14 1. & gh 79 Fl {1 TRt | 7 W Swe-uivem
T oo g fK 3fd ¥ ud ¥ 4 W & gff = et
%, U fig W @St & 9l &1 et 9w ¥ et

F amifiye; foig fRaT @ & 2

(a) 3 m/3 Hi. (b) 9m/9 H.

(c) 10m/ 10 Hi. (d) 4m/ 4 =
Ans. (¢) : IRAMER,

In what proportion must wheat at Rs. 1.60 per
kg, be mixed with wheat at Rs. 1.45 per kg., so
that the mixture be worth Rs. 1.54 per kg ?

®. 1.60 Wier fepam. ®uF & T o ®. 1.45 Wi
form. & W =1 foRe erguTa ® fretmen sq AR
frgror . 1.54 wfa feram. o mges & =g ?
(a) 2:3 (b) 4:3
(c) 3:4 (d) 3:2

Ans. (d) : IRAMER,

I I
T1.45

0.09
3Tq: TE FI 3:2 % AW H fHAm =few)
19. Cardiac muscle tissue is a contractile tissue
present only in the/Zgd U9t ek Teh TapgT
TR ek ¢ W1 hael T § Hiepg erar 81
(a) Both (A) and (C)/ (A) 3R (C) &t
(b) Heart/ faat
(c) Lungs/ HHS
(d) None of these/3TH EEIHE]
Ans. (b) : 29 YT e U fyepel g3 s @ S haA
feet (ge@) # sufted @i 81 =8 sl Ggpad
qReeReT dF o aifeebrell § wh wifed e 2
20.

0.06

The earliest composition in English

“The Canterbury Tales” was composed by
it =t FEAwAH AT T STt e’ g
=t T

22



(a) Dante/aid

(b) Geoffrey Chaucer/STT% =T&X

(¢) Giovanni Boccaccio/fST3iiast aehiferar

(d) Miguel De Cervantes/foi3Ta €t weew
Ans. (b) : IS H FEAVIH WA T el Sod Sh
HIo g T T 21 AR WG eI 1 U G 2
21.

Diabetes Insipidus is related to the hormone
Tt sifrew FrHT ¥ efera g
(a) Oxytocin/3TFHIT (b) Insulin/Zgfer
(c) ADH (d) FSH
Ans. (¢) : SIS THde® ADH (Antidiuretic
Hormone) B ¥ Hafid 21 5@ &HM & HROT Bl
B T emlE B G B @ T Tha Jg S 2|
78 TR H ST Yo Sl S W@ gerEs g g
22. Read the data given below and based on it
answer the following questions.
Six classmates Aisu, Rakshita, Sammy,
Sheetu, Varsha, Yogi are to be seated in row
facing North.
o Aisu prefers to sit in corners and will sit next
to only Rakshita or Sheetu.
o Rakshita is to the second left of Yogi and likes
to surrond herself with people.
o Sheetu is to the third right Varsha.
Who is sitting to the just right of Yogi ?
few wo f sreT @ StemEA W BIR S@ W
e o woAl o ST S ¢
D: Heutet : 39, Werar, @, vfig, aut v Awh
3T @ 3R G ik 98 R
o ¥ I | AT UH et & ST haret Warar
a1 Iftg & s W St
o I37ET, FNH & ST ST W g ¥ N W @
A | RR T uwe R
o 3t Tt & Td ST & fiw wwE W R
rft % T @i A £
(a) Varsha/asf
(c) Sammy/gHt
Ans. (¢) : f&a T FoAl -

I | | I | I
| 1 1 |
Aisu Rakshita Varsha Yogi Sammy Sheetu

3 Yogi % ¢ G4 (Sammy) 21
23.

(b) Sheetu/?ﬂ’j
(d) Aisu/zg

are added to grab the audience's
attention as well as to reinforce the point that
needs to be highlighted.
Y Sarstt o1 e Eieq o et @mer
& e fe foig W R fear 9 € 39 @
& forg ST ST 2
(a) Animation effects/TfHYH T9
(b) Package for CD/EIEl % forw dehst

(c) Screen Views/Eﬁ'vfgﬁ[\

(d) Transition effects/3aUT T91E
Ans. (a) : TFHIE T99 & AT H e T % o
g & g g frg W SN A 9 @ 39 98 B &
foq Sier < @1 WREEE % s feTgt, ge,
TSR FAMT T Bl Tfherd o T 3b1 ST fopam
ST 2|
24,

Fixing the maximum size of land which could
be owned by an individual is known as

T Afw g fafewaa @ 9= areft 9ft &
fuskan SRR & Ao e
THEATAT
(a) Land Reforms/{&f RIIRN
(b) Co-operative Farming/Sg&il Hfir
(¢) Land Celling/sf#r €1
(d) Zamindari System/SHIGRT UTelt
Ans. (c) : T =6 g0 Mfehad @ 99 ael 9ft &
AR STHR I A= BT gy i Fgerm 2
25. PM-SAMPADA Scheme is to
PM-SAMPADA ST & fom
(a) Enhance oil processing sector in India/¥Rd 7
T THERT &7 H qgH
(b) Enhance vaccine production in India/fRd #
T TEHET & F T

(c) Enhance fodder processing sector
India/MRA # =R THEHOT & Bl TG

(d) Enhance food processing sector in India/Hd
¥ W JHRT & A T

Ans. (d): PM-SAMPADA 35T 9Rd § W JH@H0T
&7 B dgH & T 1 399 I A T Had T THEHT
&7 # ghg F A T @ gl afes g fREE @
B g faam, qur et o B g S, fae
&9 G g7 & H USIR & 9 1wl 1 goi A |
73 HUM |
26.

in

Choose the best answer based on the given
conversation.

Host : So here you are at last.

Guest : Hope I am not too late.

What does the guest want to convey ?
o TE AT o SMUR W §a 37T 3T |
TR : A1 3T T&l 3 #)

arfafer : o & foR g2 oga 3 = €€ &
ferfer ST ST e § 2

(a) He wanted to reach late/dg <X ¥ Tg=HT =mgal

a1

(b) He know the host does't like his coming
late/T8 ST & % €% I IHH W ¥ IET

TR T 2
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(¢) He hopes he is on time/38 38 2 % =&
qug W 3
(d) He knows it dosn't matter even if he is late/d8
S 2 fR seE A B T ued, wot & 9%
ferciferd e 1 &
Ans. (b) : & TE aWEA & MUR W T Wy Fsher § b
ey ST © 6 @RS Bl ST R T AT T T 2

o (L b) (=
T
© % @

27. The most distinctive feature of echinoderms is

the presence of w gew fafdre

Teroroan ferment Sufterfa o gt € ?

(a) Blood vascular system/Twh aTfgeh! UTcA

(b) Water vascular system/STel aTfgehl SUTA

(¢) No vascular system/®T$ JTfeehT SUTer i

(d) None of these/3TH T FiE T
Ans. (b) : rFsdg & Tag fafw faEa S« o
Yot # SN &1 St arfeeR Yol i suRdfy & @wor
IS % T, o, IRaed 3R vaE § geg B 2
28.

The most densely populated Continent is

T T ST AT HETET

(a) North America/3Td 3R

(b) Africa/3Thih

(c) Europe/{ﬁ‘?

(d) Asia/Tf¥mT

Ans. (d) : G99 T S AT HEET TRET €1 e
forger =1 eQ ST WIS 21 THH! &Fhol 44,584,100 i
fep. . B, St o erelia W7 1 e 30 SfEE 81 e
T4 HRAIT YR, FEHIT G qUT B IR TR e
7 F G I § Safh B Te, A §OR e e
TSHIHT o weg T A & |

29.

Components of RFID are
RFID & ¥ &

(a) Reader/feX

(b) Both (A) and (D)/ (A) 3 (D) &t

(¢) Neither (A) nor (D)/ 7 @ (A) T & (D)

(d) Processing device /MafdT feary
Ans. (b) : RFID & u2& fiet it Safin feamg &
RFID (e gt smeeffhny) ts wohr &t g
AT ThAlh ¢ S R aEg a1 =fe @ b sk
afe sl 2 2
30.

Select the correct mirror image of the given
figure when the mirror is placed at line AB.

& g eefa W W quw wfafie g S
U Y IW@T AB WX TET AT &l

O3
Ea

A R 2

\Ans.(b):%w‘b’wa@ﬁrwwm‘wwﬁﬁw% ‘
31. If (x—4)is the H.C.F of (x’ — x — 12) and (x* —
mx — 8), then the value of m is
e (x2 - x - 12) AR (x* - mx — ), T WgHAH
TR (x — 4) €, A7 m T T AT G 2
(a) 0 (b) 6
(©) 2 (@1
Ans. (c) : A (x —4) FHHOT (x° — x — 12) 3 (xX* — mx —
8) 1 HedW A § I (x —4) 3 § vt g
x> —mx— 8" x & A 4 Tad T-
16 -4m—-8=0
—4m=8-16
m=2
3 m H A 2 7
32. In which methods the hard seed coat is

ruptured or weakened by machine, hammer,
scalpel to break the seed dormancy ?

e faferaar & wror woftw, e, o @
e & fog ferm fafirt @ weR st @ @t
e Toam ST & o1 SwEsiY o foe ST § 2
(a) Scarification/ShRIhHeT
(b) Verbalization [ATAEI I
(¢) Chilling/fafeT
(d) Startification/@RfFHIA
Ans. (a) : I Ffspad % FR0T @i, e, O 9
g & fou @hfhehye el § SR &S @i #i g

e ST @ a1 FASR A S 2
33. The non-paying users of the public goods are
called e & q
wEd Bl

(a) Public protectors/HTdsif-eh &

(b) Rivalrous/Sfereqelf

(c) Free-riders/qo =ATIR

(d) None of the above/3™ | | ®I§ el
Ans. (c) : TESE WA &k PEAFEH TR H OIH
MR Fed &1 TEsh U Had FR A e &
o & difte 7
34. Who is the current Chief Justice of India ?

TR & FeAH T =raefior s g ?

(a) AM. Khanwilkar/T.TH. @A

(b) N.V Ramana/T.dl. T

(¢) D.Y. Chandrachud/gl. a%. 9598

(d) None of the above/SWIE § T Hig el
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Ans. (b): TITHTE % IH 9RG H &I AT T
TH 91 F09F H 9RT & [E-IETEN g6 aRmEd
TEEE &1 T ARG % 509 qET AR g1 §Hed @
IS HIfAHUE WHAAHR aad= § TR 9RG & Arhard
e 2

35. In Document view displays text with
character and paragraph formatting, but does
not show headers and footers. THe = H,

_ X IR N ywuuw & oWy

e vTteT § T X oK geX et ferEm |
(a) Normal view/dMH I &
(b) Thumbnails/Zaeq
(c) Print layout view/f%¢ 3= g
(d) Web layout view/dd T3T—E

Ans. (a) : SIHC o ¥ U o hidl 3N WETE

YREUUT & WY YIS FRAA 8 Wy 8T R FeX 7 e
| 32T 3R PeX 3 Tl H W F % AU SwEntt g
¢ R oy el seie & T UB W RE =Rd € S
I A, SRS F VNS A1 U e |

36.

5-8% solution of acetic acid in water is called
T B ufafeeR Tt r 5-8% fearera
THECTT 2

(a) Vinegarff%ﬁ'fl'{

(b) Glacial acetic acid/Tifae Tfafes 1

(c) Muriatic acid/=IRufesh 3=

(d) Carbonic acid/&al{eh T

Ans. (a) : 9@ | TS v &1 s5-sufvm faeem
forr sheermar 21 fwehl (fmmm) wofar & awefia @ fomen
PH A 9T 2.5 81 351 YA @H TEH F &9 §
fepam ST 21

37.

If below letters are rearranged, the meaningful
word formed is TAOBIROPN

Tfy o fag s1ell &t 4= rafea frar wmg
Al = areTT |refeR 91sg § TAOBIROPN

(2) PROMOTION (b) PROFOUND
(c) PROBATION (d) PROMINENT

Ans. () : [&& 7T 3R ¥9g TAOBIROPN ¥ Td& ¥
PROBATION &+

38.

Inflation is state of

ReR _ wek Reafa ¥

(a) Low prices/= g1

(b) Rising prices/aﬁﬁ g

(c) Medium price/HeH oI

(d) High price/3=d oI

Ans. (b) : TEEHIT Sgd 9T 1 TF Rafd g1 5=
I gl & sriqe dar @i @ o aegel ud darsi
Tt g S &1 HEdl § 39 gfE B g e
IR ST GEEHIfT T & g giedi & SER
Wé-(ﬂ%@gﬂﬁ%@(z)wﬁwi@
dheh |

q v

39. is a presentation containing Power-Point

masters with custom for matting founts, a
colour scheme, placeholder for text, graphics
animations and so on./ Tch

o wen wiffén, wie, Ts @ die,

e, Wiitker, THAYE 3R 3= & fow =

¢Neh & AT UTeNwEge ARSH BT gl

(a) Auto space/3Tal TH

(b) Toolbar/cel dR

(c) Template/@‘—'q@?

(d) Auto content/3ieT &
Ans. (¢) : ST TH W ¢ O HEeH BHRT F,
TH T AT, WIgd, Tftheh, TIHTH 3R o= % faw
M 4R % WY e @RS AR S 81 A8 THh e
2 S & U e & Ot Wi &g % w9 8 S
T 2
40. Expansion of U.G.C

U.G.C. &1 T &g &= & ?

(a) University Grants Commission/?{ﬁaﬁao( Tied

EINC]

Commission/J(4a

(c) University Grant Corporation/gf-afidt e
FHTARTA

(b) Union  Government

(d) None of the above/3 | T Hig Tl
Ans. (a) : UG.C. 71 fowr &9 el aicw w+em
2\ fovafoame™ @M TEM (U.G.C.) 28 fEw=R, 1953
SR H o= F0uH § I8 ITaaX T @1 UE Aeaqu
w9 o T 21 R 1956 § us tffE g aRd SR
1 Teh Aieh 3 &1 fear e

41. If gof a cistern is filled in 1 minute, how much

more time will be required to fill the rest of it ?
3R Ueh Seht &l — ‘II'I'JT 1 fie ®§ W W §,

A AT ®w = o ﬁrcm O A ?
(a) 10 second/10 THUg
(b) 20 second/20 THUE
(c) 15 second/15 THUg
(d) 12 second/12 THUS

Ans.(c):?of?f&?T%ﬂWﬂlﬁT%zlﬁ??ﬁ

F3 BT 1/5 (3) | T F =L
4/5 s

42. Total number of Krishi

Haryana

sRamm § Hi foaam & #it ot v §

Vigyan Kendras
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(a) 17 (b) 20

(c) 19 (d) 18
Ans. (d) : AT § FH o = A T 9= 18 7
F T F% 9 § BN AR b= g1 Seth aw §
F 731 BN fa7E F=% (KVK) 2
43.

How many 5s are there in the following
sequence which are immediately followed by 3
but not immediately preceded by 7?

frafafaa sjgen ® fa 5 § = i o1

3 U UES 7 T §
8953253855687335775365335738

(a) One/Ush (b) Four/@R
(¢) Three/d= (d) Two/

Ans. () : & T STl 39 JhR 38—

8 053] [2538556873357753 [65335738
I @ T Wy ¢ 5 3 UF g S ge Il bl 9

ExGd
44.

Which of the following is not a parasite ?
frrafefaa § @ SiF-91 Uk w78 § ?

(a) Tapeworm/®IdrhH

(b) Female mosquito/HTaT Hees{

(¢) Liver fluke/eeR Hgh

(d) Lice/S]

Ans. (b) : Tl WS UH UISHE 81 8| uiSie § SR
3 e St @ g 8, S et e Sl w enBE g
ST A A B €

45. What is the number that should replace the
question mark ?

e 7w yv= forg o o WX s ot wwe eeit?

6]8]12
10(2] 5
15| 4
(a) 11 (b) 20
(c) 15 (d) 14
Ans. (c):mw,
WH-1 -1 6x10=60 , 15 x 4 =60
WL - 8x2=16 ,4x[=16
3G IHR,
W= 111-: 12 x5=60,[7 < 4 =60
? x 4 =60
TH YHR ? W AE 15 2
46. The technique in which the semen collected

from a healthy donor is artificially introduced
either into the vagina or into the uterus of the
female is called

g dohrieh EH Teh @ gHehal § Taba
feram gom ol wran st Tetvrefian @ Tty ®
FEOMETA ST S, Hgeld gl

(a) Artificial insemination/BHEm e

(b) Artificial Dissemination/?ﬁﬁ BSESIES

(c) Ejaculation/®delq

(d) Natural insemination/STehfcres TTfeT=
Ans. (a) : 98 THhAH ST9H TH WEI TEHal 9 T
foFam gam 9 W S TAieEEer @ TwieE § FhH w9
Y S ST 8, HEW THEN deerdl g1 4R § e
1939 # wdvem Toig Sl wH 4 § HAW ToiuE &
T fepar T e
47.

The group of official languages of UNO is
HYH Y T wht SRR WTHTSH 1 T9E §

(a) Latin, English, French, Russian, Spanish,
Arabic/d o, 3T, e, &, Fﬁﬁl’?‘f

(b) Chinese, English, French, Russian, Spanish,
Greek/=HT, sl e, &6, @iwr, Hs
(c) Chinese, English, French, Russian, Spanish,
Arabic/=H, \?Fiﬁ, &a, w4, @rfira, T
(d) Greek, English, French, Russian, Spanish,
Latin/Fs, 3f3ef, =, &€, @i, dfea
Ans. (c) : §Jth TP 9 &I Mfewle wmsti & Te-
o+, 3SR, %, w90, W T owE &1 T g ad
1945 ¥ iy & iqUdd §ied 21 adae # gad
yiftret Gee TPt T §= 193 Bl
48. There are only ____ offences in the IPC which
are punishable with death./aTl'é‘ﬁ?ﬁ ¥ hael
e & Reht <2 gy R
(a) 5 (b) 8
() 7 (d) 6
Ans. (b) : 3TRMH & Fae 8 3 8, S € 9 2
Tgave fovg  feeft ff 7@ & 9 FF & ded foeed
=Mt I & T arel Seaed 9T gl & |

49.

is an alloy of Pb and Sn, which has a
low melting point.

Pb 3 Sn & T fasreng %, o
e T e 3
(a) Brass/diae (b) Pewter/®X
(¢) Bronze/s&idT (d) Solder/Hegt
Ans. (d) : s Pb 3 Sn 3 T fAgeg 8, g wh
fet e 81 AR T Sied & ufear @ e s
Hieet & faeeret fafts yeR @ wgel @ T 9y
Sga & fore fean s &1

50. At what time, between 8 and 9 O'clock, is the
angle between the minute hand and the hour

hand in 80°?/fha= &I, 8 31X 9 I & fr=r #,
T uSt ¥ fide it = areht §8 o ota @
HITT 80° FATT ?

(a) 8 hours 581—21 minutes/8 SSThT SS%fJ‘-FIE

(b) Both (a) and (d)/(a) 3 (d) &1
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(c) 8 hours 43% minutes/8 ST 431—311#12

(d) 8 hours 291—11 minutes/8 ST 29%%’{

Ans.(a):WW@BE@ﬁW%,GﬁWﬁW
FA H FS I HAFE F VAl 21 T TH THL FH
Treer YT SUHL0T 2 Frgept SwEnT el deasdh | e
&I et 1 & ford fepan smar 21

Ans. (b) : ‘8 3N 9 o &% og & N 37 g ‘8 T
Fo fae’

- @

11

= —x

e ~ 30x =

SOZ%X ffe ~30x 8

11

—X

= 80 +240=320

fime = 320x 2 =940
1111

fife = 583
11

g, 8 Selet ssl—zlﬁﬂzqtso"aﬂﬁmﬁq?qdwé
et gE & o= a9

ey 80230X8—%x
11
?xﬁ‘-ﬂ?:240—80:160
iz = 160x 2 =220
1111
Ti|=r¢':29i
11

awﬁsawz9l—ll e W ff fime e ave Al §©

% S 80° HT HIUT T
51. The Head Office of National Housing Bank

(NHB) is situated at/TEia aT@ sk (NHB)

T T shraior R §

(a) Kolkata/shTeTeTT

(b) New Delhi/T¢ feoeft

(c) Mysore/ﬁ{[{

(d) None of the above/STIth # § &g ot &l
Ans. (b) : THT 399 §% (NHB) &1 J6H Hied T2
feecht & Ryd 81 gueh T U STE % s,
1987 % HTd 9 JE, 1988 & & M|

53. Itis the activity of someone becoming a part of

a group rather than a separate entity

Teh AHCTT Th1E o4 oh oT [hdt TUE T

R s ot TifafaRe &

(a) Assimilation/fiiaT  (b) Adaptation/3TJhc

(c) Cohesion/ThsZAT  (d) Integration/TahlehuT
Ans.(a):@mmaﬁ%quﬁg?ﬂ

e s 1 At st firerr wed 2
54. The theme of Paralympics, was
YferfiaeRT ST sl aTd o
(a) World inspired by the Paralympics one where
many shine/ace EWT?TS‘C EIER ﬁuﬁ»fﬁm, 99
ERI LR
(b) World inspired by the Paralympics we were
differences  shine/d® f I

Tferfaeg, & 9 fenids o
(c) World inspired by the Paralympics, one for
differences  shine/d® EIERC
Tfeftuesd, a9 B fewias o
(d) World inspired by the Paralympics, one
where differences shine/ 978 SWRIE a8 T
Tufeltre, a9 =R femias e
Ans. (d) : TTARTRT & H9 99 ‘To TS 918 §
tfaftaeg, a9 R BHET W g1 dufaftes 2020
F YR TS 7, S I sAgw gHeAyE 6o
ST S 21
5S.

A fairly large area of arable land in the
irrigated zones of India is becoming saline
because of

O o fifoa g ® wi 9rva i @1 St

ST & FoRE /IO W @RI 2T ST @ & ?

(a) Over irrigation /371 fi=rg

(b) Cultivation of same crop/e R Tk & HHA
et

(c) Continuous croping/fReR & TG

(d) Use of excess fertilizers/ 1% I A

52. is an application, which prevents certain

outside connections from entering into the
Network.

T T &, S e # e
A FB et HA Ukl B

(a) Fire wall/®raX a1l

(b) Digital signature/fesiica g&eR

(¢) Security police/HFReT Tfferdt

(d) Data recovery/sTeT Repadt

Ans. (a) : WG & fOfoa & & P dqrg iy w1 e
Jg1 &7 s R acht = Soayg § e e
2t & Rred g &t Sud W W A9 H SHE 8 @
8 o8 @l & S 2|

56.

In this question, two statements are given
followed by two conclusion. Choose the
Conclusion (s) which best fit (s) logically :
Statements :

1. Some statements are paragraph.

2. Some stories are not paragraph.
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Conclusions:
I. No story is paragraph.
I1. Some statements are not story.

3@ WA #, & o fau g € R W @
frend fom T E1 3§ Frewd g S AT w9
¥ gafaw i o
R :
1. B HYT IR
2. FT HE-AT UR=sg Tel ¢l
oo
L. 18 el ufese T &
I1. FB YT HeHT T B
(a) Only conclusion II follows/aa fo=pd 11
SITET KT B
(b) Both conclusions I and IT follows/aT T 31 11
forsspe SFEROT T R
(c) None of the conclusion follow/®1E  fes
ST TE HA B
(d) Only conclusion I follows/aat  f=pd 1
STTEROT T 2|
Ans. (c) : RAMER,
fosshe (1). 1 et ai=se @ 2
BT -2 5N T8 WE ¢ 6 G e wRess a8 @
W T8 WE A & B PR e Resw T 2 e
TE STET T HA 2
s (1) - ‘T Fo9 Ferlt T 2
FIT -1 R BT -2 3N T Wy W 2 B pw He
el T 21’ or: frhe- 11 S1aeer @ e 21
57.

15 laborers can fill 35 boxes in 7 days. How
many laborers can fill 65 boxes in 5 days?

15 Twigy 7 fet ® 35 9t o weRa €15 fei ©

e TTgT 65 Ut WX WeRdt € ?
(a) 39 (b) 13
(c) 45 (d) 66
Ans. (a) :
MD, _ M.D, 5
Wl WZ
15x7 5xM,
35 65
M, = 39 A9

58. The system memory on the motherboard is

arranged in groups called the

TetEE W ARt fren wmEl § wafed €,
ISE) e &

(a) Memory chunks/FAI =%

(b) Storage banks/RRST s

(c) Memory banks/FHI S

(d) Storage chunks/®RST ¥

Ans. (¢): TS a1 W A9 fen ggt § orafed @ e
T S Fed &1 T FEAL AU F AR Afhe dewor
2 e ST SRR SUA fBY ST AT 221 i SR

F 3R TR B & foIw fHar S 2

59. It refers to the pattern of interrelations
between individuals/ag
stavasl o Yo @ gehia & €

(a) Socialisation/SHTSTeRUT

(b) Social role/HTHITeh HfHehT

(c) Social institution/HMISeh HET

(d) Social structure/HMIRST G
Ans. (d) : GHEINSE GEAT SARGAT & a9 STEaE &
T = Hafia #aT 21 9% oS e Tt afufaE,
Heensit o =Afeal # SRy iR afewr F gl w5
ATl el 3R et B T hHESe & |
60.

63" Gramy Awards ceremony was held in
63at vft orard wuE _ # gem

(a) Montreal/Hif¢aet

(b) New York/=&ieh

(c) London/dad

(d) Los angeles/@td Tsieq

Ans. (d) : 634 affs If sEEE 2021 YARE @@
WS # 14 W, 2021 &I (RS R wEm oemn 4
WEl, 2024 H 669 AW A TARE H AESH
3R & oY Uoled § foar T

61.

The monarch butterfly is highly distasteful to

its predator the butterfly acquires this chemical

WA faaelt o et & fag 3w w0 9

wWedE Tl & ; faeet @ oW W

TEUT A B

(a) during its caterpillar stage by feeding on a
poisonous weed/Tsh foTed EROdaR 1 @it
T Toelt Jrarwe & I

(b) during its caterpillar stage by feeding on a
nonpoisonous weed/Th foee  EEdar Eal
TR ST Tl Wawe & R

(c) during its adult stage by feeding on a
nonpoisonous weed/Th fovee EEdar el
TR SO T FTE F

(d) during its adults stage by feeding on a
poisonous weed/Tsh foTed EROdaR 1 @it
ST TR T % SN

Ans. (a) : A faael 9= Rl & fow 3= &9 @
WREH et 21 feelt 39 W # U fauns TR
T WIHT TG gooil TTawe] o I T8 FT 2

62. If Monday falls on 5" of month, then which day
will fall three days after the 26™ ?

Ifg 7 & 5 AT ® QAR uSar § ar 26
airE & i fem =g wiA-wr foT ugm ?
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(a) Thursday/Jg€afear

(b) Monday/SMHaR

(c) Tuesday/HTTTaX

(d) None of the above/SWIh § T HIg ol
Ans. (a) : RAMER,
T F 5 T H GHAR U@ @ @ 26 ad@ #i of
‘GHAR M 9 WWAR % 9 fad % A @
‘Jewfar’ g
63.  Which of the following coins are called as small

coins ?/fFAfafga o @ w-w1 faeeRr B

Tereh wEeTd § 7

(a) Coins upto 50 paise/50 99 % & ek

(b) Coins upto 25 paise /25 TH % & b

(c) Coins upto 01 rupee /01 F9 T% & (g

(d) None of the above/STIE # T g el
\Ans.(a):aﬁqmﬁamﬁqaﬁ@ﬁa@w 50 G & 21 ‘
64.

Most of the sources of energy we use represent
stored solar-energy. Which of the following is
not ultimately derived from the sun's energy ?

TN G WIeh STRreRivr & deiia € et

goiia € fFrafafaa § @ @S- of|a: 9 ¥

Fert A e ?

(a) Geothermal energy/‘iﬁf‘ﬂ"f{ Ex

(b) Bio-mass/3td 9K

(¢) Nuclear energy/ATH FHat

(d) Wind energy/9ad Ex
Ans. (c) : IR Z g% S H YeRd IR ot qwi
g1 iR S, GO Sefl, q1 o9 9R ¥ Wl Het oo A
I BT Y G Y o g, Tl AN I R §
G a1 foRgus Sispar 3R S & S 21
65.

The Sanskrit word ‘varna’ means

HEehd vTeg ‘aut’ @t aref ¥

(a) Describe/aui & (b) Unique/3fgedta

(c) Difference/3i (d) Colour/T

Ans. (d) : 95pd wisg ‘aul’ & o GU g 21 gE e
3= 31 SRR qo e off g 2

66.

In cyber law terminology ‘DoS’ means

HIESR ST hi eIt W ‘DoS’ T HATS &
(a) Denial of service/f&Ea 311 qfdg

(b) Distant Operator Service/fERT 3w afdq
(¢) Disc Operating system/f&%% tqfeT faen
(d) None of these/3TH § &g &t

Ans. () : 9IgR FHMA & REEE § ‘DoS’ & fowga &9
“ferrea it wfdw” 81T 81 78 USF YHR H1 W A
2 Forger s2va frdl srogex faem a1 Sead & aila
FTT AMH I ITATHA W Th TEH T T |

67. Which of the following state Governments has

launched “Rajiv Gandhi Grameen Bhumihin
Majdur Nyay Yojana” for land less labourers ?

HA-Ut T WERE 7 i
wieft Ireor i wegy = e 9fide
giftreRt o foTT & i | ?

(a) Arunanchal Pradesh/3T&UT=cd EEN

(b) Sikkim/ferr

(c) Chhattisgarh/& T

(d) None of the above/STE # T Hig el
Ans. (c) : TSia widt amfor gfdm werR = A
TAETE THR g7 foig a8 2021-22 § yO9 &t T
21 39 A B eI IRVT AN &7 F g I
TR IRAR H TeTH HAT a9 G F uRart @6
i MER o SR YT HUAT §1 THH e
% IRAR & 6000 B FHI MRIE FErEEr & I 2l
TG IISHT &1 hareed ISt 9 R o S 2|

68.

If the day before yesterday was Thursday,
when will Sunday be ?

TRE! TEER o7 A AR el &R 2

(a) Today/3Ts

(b) Yesterday/sar g3 &

(¢) Tomorrow/shel

(d) Two days after today/3Ts % T8 & fa

Ans. (c) : 1% G TEAR 91 A1 AN =GR 8 a91 Jear
‘S’ |

69.

On dividing 50 into two parts such that the sum
of their reciprocals is % , we get the parts as
50 Y S 9T W 39 YR faanfae @t ST
wﬁasgamﬁam!ﬁw%%,a AT 36 WhK &

(a) 36, 14 (b) 20,30
(c) 28,22 (d) 24,26
Ans. (b) : HF1 50 H A AT a d b &

Tt (i) 1 A9 T (i) § W W
atb 1 50 1
ato_ 1 _ >0 1

ab 12 ab 12

ab = 600

. ) ¥ >b=50-a

ab= 600" b & A T T-
a(50 — a) = 600
a>—50a+600=0
(a—30)(a—20)=0
a=30,20

a=30=b=20
a=20=b=30

379fq 50 & & 90T 30 3R 20 7|
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70. are the programs that generate threats to

Mmputer system and precious data.

3 Unm &, W s e oiR gegam

T2 o TTT e 3l i B

(a) Hacker/3e<

(b) Virus/are

(c) Malicious codes/gT-HNH He

(d) Cracker/sheht
Ans. (c) : SRS F2 F TIM 8, S el ey i
Tead ST % foIT @av 3ee id €1 98 HEL S,
FrEdl SR g @ # oA S § uReda o
Ug- (- @ ST 21
71.

According this Fundamental Right of Indian

Constitution child/forced labour is abolished

ot wfen & form Hiferer it & T

ST STH et THTS T T T § 2

(a) Right to Equality/SHdT 31 (&hR

(b) Right against Exploitation/STsoT & fgers
HfYHR

(c) Right to Education/RT&l =T 2R

(d) Right Constitutional Remedies/Haefsh IT=R
ENCIBE

Ans. (b) : TR HfEUM F IS8 23 TH 24 W &

foreg TR T Hifts FFR 81 39H T =T -

23 § UMg TRy, 9R (FA #W) dvEEh ot W

el TR T B S SesE-24 R B, @

1A 3 URudeng Tafafeedi § 14 9% § #H 3@ &

el & S ol Sfese e 21

72.

The difference between 89% of a number and
73% of the same number is 448. What is 49%
of that number?

Teh HET & 89% AT SHY T & 73% ok st
T 3T 448 &1 ST HEAT T 49% AT E ?
(a) 1426 (b) 1124
(c) 1218 (d) 1372

Ans. (d) : FT @ x 21

TRAMER,

89 89x
XX —— = ——
100 100
T3 _Tx
100 100
89_"_73_":448
100 100
16x =448 x 100
x = 2800
xx£:2800x£:1372
100 100
safq =@ 9= 1372 7|

3

73. Kappa and Delta variants of Covid-19 was first

identified in which country ?

HITaS-19 T HOT AR T fordd TgeT a)

forr 291 & wgwm T ?

(a) Bangladesh/STTamasT

(b) India/9Ra

(c) Brazil/siTsitet

(d) None of the above/3t | & &5 &l
Ans. (b) : HIfTE-19 N Ho T4 Sedl ARYE FawIH
2020 ¥ WG § TAM T TYE T @R TG A
Ffs-19 & B1.617.1 dRUZ & & O B1.617.2
Afde F o1 AW & B
74.

What is the minimum number of cuts required
to cut a cube into 150 pieces ?

T 9 ® 150 EHI W Hled & OQ Fqitwd

TS W AT W

(a) 17 ) 15

() 16 (d) 13
Ans. (d) : IAMER,

FA THS A A =([+ ) (m+ 1) (n+1)
ST, (I, m, n,) T fomT R aifed s $ 9,
(+Dm+1)(n+1)=150=5x5x6

T FH W -
[+1=5 m+1=5 n+1=6
/=4 m = 4 =3

AT FA afSq el B G =4+4+5=13
75.

_____deals with combating terrorist financing.
ATdeRare fa<fiom @ e | Heifera gl

(a) Import and Export (Control) Act, 1947/31d
g fafa (Faon) sifafrem, 1947

(b) Unlawful  Activities (Prevention)  Act,
(UAPA) 1967/3Fdga Tfaefadta  (favm)
T (UAPA), 1967

(c) Prevention of Corruption Act, 1988 /4R
stffrem & JsHam, 1988

(d) None of these/3TH EEIHE]

Ans. (b) : T Tffafy Jswhem RIF=E (Unlawful

Activities Prevention Act - UAPA), 1967 3ildshala

forflom @ e ¥ ol 21 3@ 1967 § @ R T

a7 9§ 2004 A1 a9 2008 H TH sMAwa fowrdt A

& w9 § Tl feam mw o)

76.

Dr. Rajendra Prasad Agriculture University,
adopted a model in Madhubani to check
pollution in villages. It is/ST. TS Y@ HIY
fervaferamerar = el ® WEHUT WX Teh G WS
T Ueh AISCT TUATAT §1 9% &

(a) Sarala model/SXeT Higd

(b) Delhi model/fécait Afea

(c) Suction model/FH Higd

(d) Sukhet model/g&d Hea
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Ans. (d): B TOF% YOG HY
TGO A &Y T F %I@H
Hied & ded Ma & fha ¥
memwmw%mmﬁ
Ao S WE A % forw G femm S § qen
FT & frnw & foau aff sre s F1 oF
S 2

77. The smaller the the sharper will be the
image when dlsplayed on the monitor.

BIET BRI, WiHeT U g9y 9 o

TerfRier SAT T 2

(a) Pseudo color/&a {1

(b) Aspect ratio/9g<] 3TIUId

(¢) Refresh rate/fCheT &

(d) Dot pitch/sfe fo=
Ans. (d) : 31 T f9ea feod T & STem-3TemT
e % &= & 3 & I & v= 21 gEe o
IAT-3TAT YT H TH T et & AU H

S 81 fe f faaT sier 8, wiel W auit SH W
wfefersr 3T & TE g
78. A belt of marshy ground and Vegetatlon on the

lower parts of the alluvial fans is called as

TE & freer 9 W ogeEeht gfr o
mﬁ‘qﬁaﬁ@ﬁftaﬁﬂwﬁ%l
(a) Terai/ds (b) Plateau/93X
(c) Playa/w=ran (d) Humus/qHA
Ans. (a) : ST T A1, SORI q9T 3T il o U &
ﬂﬁmmm‘eﬂﬁwﬁﬂaﬁaﬁwm
|

aﬁaﬁﬁ{&raﬁiaﬂmﬁﬁﬁ@ﬁﬁﬂm‘w%
79.

The Prevention of Money Laundering Act
(PML), 2002 was passed by the Parliament of
India in

gaeite framer etRifrem (diuauer), 2002
ORA i WHE §NT ha UTRa TR = or ?

(a) December 2002/fe&R 2002

(b) December 2008/ fg= 2008

(c) December 2004/ f&&=R 2004

(d) December 2003/ fegw=IX 2003

Ans. (d) : & WA faRoT SAfRIm (Prevention of]
Money Laundering Act-PMLA), 2002 91d & §6a R
feomRr, 2003 # wiRd fam mar oan1 W AfST 9 A
3 o7 F T F & SRS Bl 3% faferEt g
A &Y Y W A T R

80.

The Inter Tropical Convergence Zone (ITCZ)

BT fYehel shratal=q I (Mg, )
(a) Attracts inflow of winds/arg 3fd : ¥a®
ST F &

(b) Repels water vapours/Siel amq 1 forpfifa sear

(c) Attracts water vapours/SIeT aT™ H THT
BT 7
(d) Repels inflow of winds/aR 3fd: ¥a®
fopfifa e 2
Ans. (a): 370 SWHST SIEOT & A ITCZ (Inter
Tropical Convergence Zone) 32T T -7 @ & U
JAER & T YA W B 7% &7 8, el Iadr N e
e & AR gad Th S8 e 81 9% 9y i
YA 1 ST HT 2|
81.

Question below consists of a question and three
statements numbered I, IT and III given below
it. You have to decide whether the data
provided in the statements are sufficient to
answer the question.
What is the code of ‘use’ in the code language ?
I. In a code language ‘water is clean’ is written
as ‘va ye ha’
I1. In the same code language ‘milk is white’ is
written as ‘da ha te’
II. In the same code language ‘use clean
water’ is written as ‘ye to va’

9= | Ueh U9 3R T shee wem
I, 11, 37 111 feu 7 ) 2muent fouie &= & &
HUAT W foam AT SATHST WA HT ST o &
forg water 21
HE AT F ‘use’ T He FATE ?
I. &e o1 ® ‘water is clean’ & ‘va ye ha’
o gam 21
I1. St e 9TeT | ‘ milk is white' ST ‘da ha te’
& ®Y | foran S R
II1. 35t e 9T | ‘use clean water' @Y ‘ye to
va' T s €1
(a) Only I and 111/ I 3R 11T
(b) Only I and TI/3&d 1 3R 11
(c) Only II and I11/34a 11 3R I

(d) None of these/ZTH T FiE T
Ans. (a) : IRAER,
'use' I 11§ 377/ 21
W] HAF M1 H  'use’ % TY-TT 'clean’ 3R 'water' 9 &
S e 1 H ot e B
37a: 1 3R 11 ThgY S 34 & forg gata 2

82. The sum of infinite series, 5+ 5+i+ .....
6 36
T g 5+§+3—56+ ..... T AT
(a) 4 (b) 6
(© 7 @5
Ans. (b): & T 3T @Al
5+—+i+ ..........
6 36
9 - I ST F aﬁv—li
—r
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TJ&l, a=>5
5/6 1
r= —=—
5 6
. 5 6
3T ST H AT = —1=5x§=6
1 I
;I ST A 6 %|
83. printer uses the oldest printing
technology and it prints one character at a time
_ Toex yrefiam fufém et @ wEn
AT ¥ 31 TE T WA W HERN fUE ea §)
(a) Dot matrix/S1¢ AT (b)Inkjet/Shte
(c) Drum/gH
(d) Daisy wheel/Ssit &t
Ans. (a) : Si¢ ARF Bt yriaam R asde &

TN S B R A8 UH GHA W TH il B e 21
ool S H §Ag W Al S 8 SR @ & fog
-t gic Afes & YA fRAT S 21 gH
grige fieT o e o 2
84.  Who called as “Morning Star of Reformation”?
e ' GUR T goTg T " hET ST € 2
(a) John Calvin/Sii sifead
(b) Zwingli/fSETett
(c) John Wycliffe/ST aferet®
(d) Martin Luther King/ﬂﬂc?c:f e foh
Ans. (¢) : 1 fafsas w3 fagm amifes, sdvman
A QR 41 T 147 waRd # beferd gl o &
IR T TAERTR STHIT F T IR T AR AR H
@q@a{ﬁ{éﬁwwéls’% ‘IR B GG H
TR ot el ST 2
8s.

As per IT Act, private key means the key of a
key pair used to create a/ rfafrem &

gER, Tooft gl o1 ordf € ww &sft gow =t
TE R w3 o g &
(a) Key palr/w R
(b) Public key/STeS-eh gheit
(¢) Certification Authority/SHTUTH HTfereRuT
(d) Digital signature/fsiiea g&iRR
Ans. (d) : 3T FEE F oER, ST o @ o §
%?ﬁwﬁwwsﬁ%ﬁmmmﬁ%m
|

86. Which of the following State has recently

became the third State in the country to get
clean tap water in every rural household under
Jal Jeevan? HEA-TT T

Sersitas fag & siavia g amfior o o
e el YT i B 97 W e Tt S g ?
(a) Haryana/gRamm

(b) Rajasthan/TSTETH

(c) Himachal Pradesh/f@araet BEN

(d) None of the above/SWE # T Hig el

Ans. (a): 9T Sad f9F 9RT WHR & I Ve T
Z ¥ 2019 H Y& w0 21 5w fvm F a9
2024 T S W Td FARE (FHTC) & Aeaq |
T IET 9RER i 9 Afh dfafed 55 el Sof @
Y S IReear @ T 71 War I H TEeA FeA S
forgr’ SToT T & TR R | Sieifeh gRAT e T B
87. Attack : Defend : : Deep : ?

STTRUT : T&IT ¢ ¢ & ¢ 7

(a) Harsh/3&1 (b) Rejoice/3THgE T

(c) Shallow/f&&ar (d) Alert/Smaemt
Ans. (c) : 79 YR SHAT F gy @ G 21 39
TR T H T wer ¥ 2|
88.

The number of arrangements of the letters of
the word SALOON if the two O's do not come
together is/afe & O Tk W E 3 & T
SALOON 9162 o 3181 shl SIaEelT sht U&AT §
(a) 360 (b) 120 (c) 240  (d) 720
Ans. (c) : IRAER,

'SALOON' 71 & Tt qva awarsii & §&a
6 6! 720

—=—=360
p, = B 2

I 07 TH Y T,
OO0 S AL N=35!
5x4x3x2x1=120

S U 9 T = 9 - T Ay
a
None = Total — Together

=360-120

=240
Fofq Ak a1 ‘0’ TH WY T A A i g g
240’ gnft

th
89. A radioactive substance decays to (%) its

initial activity in 40 days. The half life of the
radioactive substance expressed in days is

e Weaedf wared 40 fot # gwent emfen
foram w1 (%jmammgﬁm%lwﬁtﬁmﬁ

Terel st ety fot W e B

(a) 10 () 2.5

() 5 (d) 20
Ans. (a) : IRAER,

%‘_

1 /T e
N =No (—j
2

N/16 - (lj“)/'funuf
N 2

4= 40/THalf
Thar= 10 T
apafe et gard # swefemg 10 fam 21
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90. The ‘Agenda 21’ a List development practices

are introduced in earth summit held in
U omeifea gelt Bremw wliew o

forarrTenes wemett i Wt ‘weier-21" @ U9

ferar T em

(a) Cape Town/®Y 2134 (b) Rio/f

(c) Johansburg/Siergart (d) Nairobhi/Ast
Ans. (b) : TSiET 21 Tad 4@ & fT W& TF (UN)
FH TH HF AR 8, B 1992 % fEr € AR,
Feid, TEERe SR e W gge Ug geed
(UNCED) & 9RUM&®Y d9r) fhar T o1 & -
e F A 2 |

91.

Fill in the blank with appropriate word from
the alternatives given below it.
I will do this without__ delay.
(a) farther (b) latter
(c) later (d) further
Ans. (d) : I o & b ©@F H fashed (d) further
(3T 3T WA a1 o 9IF % SFTHR ST ET
I fashedt o a1 §-
Farther - §C (Physical distance)
Later - 918 | (Time)
Latter - 91& # (Position stage)
Correct sentence : [ will do this without further delay.
92. In the following question, a sentence has been
given in, Active/Passive voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active
voice.
Who will help him ?
(a) By whom he shall be helped ?
(b) By whom he will be helped ?
(¢) By whom would he be helped ?
(d) By whom will he be helped?
Ans. (d) : W 919 &I Active U Passive # s&cld
forer e @ -
(1) Interrogative sentence # who &4 T Passive a0
9T 396 Whom H =geld € 3 3% Tgl by # Add
4 £
(2) helping verb I will be § T main verb & Third
form (helped) &1 T BT
Correct passive form : By whom will he be helped ?
93. Below given idiom followed by four alternative
meanings, marked (A), (B), (C) and (D). Mark
the one which you think is the most
appropriate.
A bone of contention
(a) an act of submission
(b) an act of gratitude
(c) asubject of dispute
(d) an area of agreement
Ans. (¢) : ST idiom, ‘Bone of contention’ & 374
féhed (c) ‘a subject of dispute’ (fFr@TE Y o) 81

94.  Fill in the blank with appropriate form of the

verb from the alternatives given below it.

The meeting in great confusion.

(a) broke with (b) broke up

(c) broke down (d) broke out

Ans. (b) : 3T T & R ©F 7 fG%eq (b) ¥ ¥q®

Phrasal verb, Broke up - (@H %ﬁ) H AT 3qh B

Correct Sentence : The meeting broke up in great

confusion.

95.  Fill in the blank with appropriate modals from
the alternatives given below it.

He out do every competitor.
(a) can (b) need
(c) would (d) ought

Ans. (a) : ST I & Reb M § fahed (a) can &
ST B i can, Abilityaﬁ Tt 21

Correct sentence : He can out do every competitor.

96. ‘fret’ THT T 3SR £
(a) f&7 (b) TES
OEEEEE (d) 39 ¥ #iE T

Ans. () : R 9@ & gl 9€ YU & 3} 98 34F @&
3 e T FRd £ et s wE § gue
TR T T 3OH §, T 9 e B =S B

97. HTET ol WigH TG T ol ol Fed &l
(a) THHR (b) Hfaar
(c) STAFR (d) T ¥ = T

Ans. () : F1T & Higd (INT) T aTel acd AT I3
‘IR’ Hed 2| HHN % TIA: & 9E 8 |

(1) TEETEHR (2) 3AfARR

98. WU | o= 9Tt AU ITeg HEATT 2
(a) TR (b) =
(c) STUW (d) 3 ¥ FE T

Ans. (a) : G99 ¥ 994 9 VS H THE US AT
Y I8 Fed &1 S9- 29 + 3ed = eed| 39y
3T FEEE 7
99. I feRaTE et gRT T T T ik TeRdt ot
HfTh I H1E HH o AT IRT A AT Ser
WA, TR ferad wed g
O RIEEAINES (b) 7ol
(c) SR (d) 3 T FE FE
Ans. (¢) : ST fhaTT &al §RT WE HE T Fh [HA 3
S Bl B HE & (T IR A B AY B, IR
Sonde fRard ded €1 SE-HA e ¥ % S

100. TR | @R &1 A 219 W A7 URadT 2w €, 39
wftr wEd g
(a) IS (b) &
(c) =R (d) 3 ¥ FE T

Ans. (¢) : & feheadf auf & WeR ¥ 9 o fasr &
2 9 9fy Feam 21 9§ TER % B9 § - @) gy,
s |y der faeed ) WX g W o# A g1 WS
URed gl 7, 3§ & G ded B
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FRATUT Yiere shivearet udter, 2021

ST Aigd &1 W91-

WIH UTeAt (SET-4)

(et fafer- 2 e, 2021)

1. Tk =i dfe Hfify & S e Pfde
ek WIERIM T 1 WW & o AU
wuTESTeh Hifsen Hife o oWl 31T guet 81

(a) TRTEHITT T 5% BT

(b) HETEHIf SRRt

(c) I &1 9D @A

(d) 3TF § § FE T

Ans. (b) : TR TRAiHT IRAT Rerd S AfbT
wHify § S gerefs el affe « o@ 9 F
fou i A @ wERE w0 % A g 8
TEERITT AT S STIEROT 3 v W aneRd @
f6 e fRemar o WA ¥ deafos onfds fawm
gy &9 9 BT 2|

3T IR,

(@ N — =

5. T o9 sm-ur gu fefide (smhet) wa

T YR &7
(a) faferar (weft) (b) T
(c) 3T (d) /=

Ans. () : TS @1 Wl (L) THR H & 2|
TR N AT 3H FER & B § S THd W Ger
T 2

; TRt FervToAT 57
2 gzﬁ@a?&r ) sﬂ?ﬂé‘a 6. TfT 39, 48, 51, 63, 75, 83, x 3T 69 =T A 60
(o1 i () ik 2, dr x &1 71 Tehea=T 22
Ans. (b) : S-S 9 % Al F PO = HaT A % 2(2) 83 2?
21 STt @ YR SeeR g ¢ R gs, #er aun r——
gedT 9 URT S 81 T8 SwWafenft @ § qn Seasi| | |Ans. (c) : WZW
3T ge afy 2 3 e
3w T 2020 o & F Tew o 60:39+48+51+63+75+83+x+69
8
g(a);"ws'“ mﬂ:ﬁ 428+ x =480
a — _
(b)s R o oifw SR x-_45820 428
(c) T S Teon BEEH :
(d) 9IRAE e gaeror 7 ﬁtﬁ?;qu—%;}w
) (a) e (b) e i
Ans. (d) : YRAT STfd Fdewr T ¥ 2020 & g ©) T A T @) S T

‘@i fewhedl 2020° FHIvE fohar o g9 aefaEl S
267 7 ST P STl TRAE Fedfd e gataRor
T aF T o ST U I STHEE W 7, SEe
TOAT 1890 3. H &1 T i | 3HH AT SHIAHM H
fRer 21
4. T&H FH W ‘MEWAR’ &l ‘NVDZI fer@am sman
¥, 39 % ¥ ‘SURAT’ & &d forn smem?
(a) HIFZG (b) HEIZG
(c) HFZIG (d) HFIZG
Ans. (d) : 59 3R,

—~ N O < Z

Ans. (a) : AFE, HfewEm qor gom & fGdg s
el S 21 el % fasm % fu e 9 9
HEYIE B &1 TAHh Uh ded ARSI, USRI qer
R 7, I Uib % e % U sAeTaTa® 8 2
e UME ad | dfen, @Rl Fad, SR, S agn
At anfe 2
8. 1984 I WU FEEr AW wWedol

e & Rara w6 aftom )

(a) st SEEEEHE  (b) el SifaTES

(c) froe dfafree (d) Swe A 9 FE T
Ans. (a) : 2-3 T, 1984 & T&T Y=Y & AUA §
g Frelee HE & Wi ¥ MaEd EHEEAe THE
Sl 1w % Rama gen o1, fSud il am o ge
q| TG AT B WIS T AL F AW G T A
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Uie Tgeh Ueh UE ® 913 §1 A, D & a1 ¢ 3%
B % T 81 EB & 9@ W= C & M@ gl St
BR U I 93T 87
(a) D 3 E (b) C 3 E
(c) C 3R D (d) A 3B
Ans. (¢) : U AgHI & S H HT Feaq @ -
C E B A D
tt 1t ¢
A 1 fFAR W S a1t dgs C 3R D €|

10. T& BT & (2n + 1) TAhI & GUE 9 AT
n &I T o9 A ot FATATT &) afe feredt
JEAeh T 9 i o el adtehl st HEAT 63
g, dn=
(a5 (b) 6
()3 (d) 4

Ans. (¢) : FRAMER,

2n+]C] +2n+] C2 +Zn+] (:3 +Zn+] (:4 + o 2n+]c :63

............. @)

%‘_

HC, e, e, PHC, AT,

o =t (ii)

2n+|C0 _ 2n+lc2n+] , zn+1cn _ |Cn+] HCI _ +|C2n

ot (i) ¥

2[2n+1CO _ +2n+1cl 4204l C2 o 2n+1cn —

Tt (i) # g (i) § T FE /-

ks Co + 63]:22n+1

i (201!

* 0!x(2n+0)!

_ (2n+1)!

1%(2n+0)!

=1

2% [1+63]=2""
128 =2

92+ _ 57
2n+1=7

2n=26

n=3

11. MUYk << Uisham @fgar & o 3favid
STUTTEN <hT SffeRTur e e 2
(a) T ST (b) ©IRT 482
(c) ©WT 320 (d) Tgell ST

Ans. (d) : 9RdE qvE ¥k Gfear (CrPC) 1973
ST TH T Tt sifafem 31 she o S
T ol w1 el GIF-3EIE, SHEA-T S
afe o fopan T 2

12, arewife soeerh &

(a) FUTHS dte fadrem

(b) TS T forftaA

(c) T TR feiam

(d) Fste =T fad

Ans. (a) : S HT 3R oMyt § ST Tar gan g @
Feqel ot Sl @ S a¢ S 8, vl § 39 s
F I Fed &1 RS Foe foRiEd qEewifa %
fodr RRR 81 9Rd SO g @ T & e
el & MR W BT 3- 41 I gahih (WPI) T
IUHIH I i (CPI) |

13. Uk U@ @t 2 Ry Rerfaat gomsg 78 €)1 9% 27er)

AT SN’ o faudia wereh ) g
(a) E (b) M
(© O (d) W
Ans. (a) : RT 7T U@ ¥ 9 SRR F =<t &t o §
o | fufia wersh e 8-
O[W[E
TIT|T
O[M|N
I W ¢ 5 N & faudiq gag W B’ &
14. T ST § S ST e i fawdter

WEEAT & WEIW W Held  uvend g
IMURYA WEAT iR |ees &y & o
Harem ufEeredt § frawr ¥ e weEm-
Sraiafer /T favia giaar Suass &)
(a) W HeT fAf
(b) TUL.Tn . fAfy
(c) P YT §==1 Ay
(d) ArErE
Ans. (¢) : P TURYT T DY ASHT & T80 BT |
S # 3% 7 B TG B S & 9 BHA H B
YA GRS FY, SRy §EAr & fau e qun
drefafey o7 gfaen suesy & & faw & 2020 #
A BT H faumor fFam T 81 a7 gl waftes i
TS, @ TR 9 SR @ e #r St
15. U&h T Ueh JWhT JF H g0k oioad
0T gferse grar &, wrar for o o feaman o
1 THSRTT WX I ST st T grf

_> .
[ e e
>
A

T
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(a) T AR (b) I & iR

(c) I ¥ TR (d) @t &R
Ans. (b) : 5 F XM TS & AR 9w & F
e Bt & (TR 1 a1 g1y b ) | ferege e
fen goel B TR @) fa % R o 9 81 e
P T P e y= F AR F R W g 2

16. Number whose fifth part increased by 5 is at to
its fourth part diminished by 5, is/Teh HE&IT
forger uferd wmr ® 5 ot gy gE, SHE W
AT H 5 W HHT F WO T, TE
(a) 200 (b) 220
(c) 160 (d) 180

Ans. (a) : HFT @ x 21

ﬂ )

Zis5=2_5

5

XX 1o

4 5

5x —4x _ 10

20
17. The annual net primary productivity of the

whole biosphere is/TWUl JaHSA i ATTR

Fraer Wit SeTEeHaT §

(a) 170 million tons/170 faferas ==

(b) 115 billion tons/115 faferad ==

(c) 180 billion tons/180 ffeR ==

(d) 170 billion tons/170 faferm =
Ans. (d) : U SoHsd i ate T (35) T
IAEHAT T 170 fafered 29 7, g9 werE s &
el 55 faferem =7 21 aiffs Y@ afie Seame,
TH a8 H U (IMHRR TF 3THeSH) & TUd &
foTe Suere sfEmE 2|
18.

The thermal decomposition of HI on gold
surface is an example of order

reaction./TUl T W TG Rl HEd

TqEed wH W AFafRIT W TH

ISR &

(a) n"/naf

(b) Second/fs=a

(c) Zero/IA

(d) First/32H
Ans. (¢) : @ TAg W TAINE. (HI) & T TTeA
YT YRR F AUfRAT 1 IR &1 SR & v e
& o 2 f aifufpar o sifufpast o gisa w el
T L 2

19. Which of these are examples of man-made

ecosystem? /f=filgda & ®  @E-©t

Ut uTifterfent o & 82

(a) Wetland/3T8 9f&af  (b) Forest/SiTa

(¢) Crop Field/@d (d Estuary/‘l'ﬁﬁf
Ans. (¢) : A9 fffa aiRfefess &3 F S @1 8 <t oo
T % fou o st | R w9 81 3 @R
¥ I T B &1 - e, FE, 94, 9, SO e |
20.

If a number is multiplied by three-fourth of
itself, them the value thus obtained is 10800.
What is that number? /=< ferelt d=mm =t 3‘!4'37
d-eitarg | Tum feRm ST, @ SHeRr WA
10800 YT FIAT ¥, A IE HEAT AT §?
(a) 120 (b) 160

(c) 210 (d) 180

Ans. (a) : AT 98 & x 2|

FIATENR,

xxéx =10800
4

x? =3600x4
X =60x2
21.

Malignant malaria is caused by fferie
Lol % BT B &

(a) Anabellatyphi/@l—o}(w CARL|

(b) Plasmodium falciparum/TSHITEaT HIegoRy
(¢) Salmonella typhi/TeRITe ZTE%H!

(d) Shiegellatyphi/?ﬂw

Ans. (b) : #feTe TART wISHIfEaH HeEid & HROT
T 21 I WG F W H T HIA

22. Consider the following statements about
Pradhan Mantri Matsya Sampada Yojana./
gt AR WUEr AT R Weg W
frrfafad swet W faem &

I. It is a flagship scheme for focused and
sustainable development of fisheries sector in

the country./Jg <97 ¥ U & o o ehfsd
3l arwufte ferenma &g Teh FATTRIT SierT 21
It aims at enhancing fish production by an
additional 70 lakh tonne by 2024-25, increasing
fisheries export earnings to Rs. 1,00,000 crore
by 2024-25./38ehT IEIT Teh ATARTH 70 TG
T 2024-25 ek WS I TG T, 2024-
25 A% W faia 3ma &b &, 1,00,000 S
ek TS T

II.

36



(a) Only the statement I is correct/Had HIT 1
T 2
(b) Both the statements I and II are correct/&IT 1
R 11 3 o @
(c) Only the statement II is correct/Fad FIT 11
T 2
(d) None of the above/3TRIT § T HiZ T2l
Ans. (b) : FUAEH A €UR ASAT N OYEIC 10
fgdaR, 2020 & &t T o T W= a7 § Hfsd w@
Hari b 29 T WA AT 81 SHH 333
2024-25 T 70 @@ A AR TSN 3IcqEH Tl gT
frafa ema &1 31 @Rg Fs T T 21
37 B9 1 F 11 3 9 2
23. Which Indian district hosts India's highest

Herbal park?
fra ardim fer o 9 & wed 3tfire geie

qreh 7

(a) Chamoli/=Hret

(b) Pauri Garliwal/dIg! Tgare

(¢) Uttarkashi/3T<ehreit

(d) Dehradun/3gTgd
Ans. (a) : IRAE ot § 9T &1 G99 1S e T
TS & THIe (5l # 2| =l e el T4 &
fopR W fRud 81 39 wda MEA H 40 § e U gelw
st @ e W W@ T E, S 3w e
3feuTge &t # el S 2
24.

World Press Freedom day is celebrated every

yearon/ﬁwaﬂmﬁaﬁﬁwm

THTAT ST 2

(a) 4" March/4 A=

(b) 5™ April/5 37

(c) 3" May/3 TS

(d) None of the above/3TI™ § T HiZ T2l

Ans. (¢) : fava 39 @ e g% a9 3 7 & T

S &1 4 AT B U geen famg qon 5 eiid & Ui

T fee g S 2

25. Find the missing letters in the sequence./‘tﬂ TI?
STEET | T 3T&T ohl AT il
ef fe fggf e gg e
(a) ggfefe (b) ggeeff
(c) geffeg (d) ggeefg

Ans. (b) : & T sj@er feed 21

efggfe/efggfe/efggfe
3 b WM =ggeeff
26.

In 2021 Asian Table Tennis Championships
was held at/2021 ® UREME &er W

<t T g

(a) Beijing/sNfT

(b) Katmandu/W‘T’s;

(¢) Doha/2ral

(d) Abudhabi/3TrHret
Ans. (¢) : 2597 TRMEE o 2 dfEafiT 2021 S
% el § SN oA T o411 §eed @ fh 269 e
3ud fE <R 2023 &1 S aRT HikEr %
SR e g

27. Let PQ be 32 km. A man starts from P and
walks 16 km on first day. On the second day he
walks 8 km on the third day, he walks 4 km
and so on. When will he reach Q?/PQ AT 32
fertt. €1 U =R P & THY oteh Uget T 16
ferft. ot &1 T fo= 8 femrfi. wroram &1 dfiwy
fo 4 ferrft. orerar € 3R 1@ & o off e
21 98 Q T el UEeNT?

(a) In 16 days/16 f&i &

(b) In 32 days/32 f&ai &

(c) In 8 days/8 f&ai ®

(d) None of these/TH ¥ g el

Ans. (d) :

P 32 Km Q

SYAMER,

A 1T§ Eﬁ :

Ist & 2nd f& 3rdfed  4thfed  Sthfed ethfed ...,
1|6 T8| T4| T2| T1| OTS ..........
+2 +2 +2 +2 +2
16+8+4+2+1+05+ ......... n" =32
T T IR G 8
ffed  a=16
r 81 0.5
16 2
ToR. Soft & A = a(llr )
—T
16]1-(0.5)]
=32
1-0.5
=1-(05)'=
=(0.5)"=
S =>n=o0(3F)
- P A/ f § agEm
a7e: faeed (d) 70 9 1 78 T 2

28.  Find the missing term in the series. /f=feTRad

ST § T U I A
AE,J, 0,
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(a T
() S
(d) None of these/3H & i el

(b) v

33.  Which letter would complete the puzzle? /I

o918 o T T SHIF-|T 37 3MTT?

M| J E
Ans.(a):mmmﬁmmﬁmﬁ c | N | H
FART: TR 59 SR H for@r W g1 S STl MR P X[
T 3 (@) N (b) P
29. The biological process in which an organism ©J d M
gives rise to young ones (offspring) similar to | |AnS- (d): W §-
itself./ag Stfereh Wieheam T Ter it 30 < M| J |E
HeATET Rl T AT § (; § Ij
(a) Transd'uctlon/tlm'l'q:f [ o
(b) Evolutlon/ﬁw M4 Cop J4N=X
(c) Reproduction/JsTad 13+3=16 10+ 14 = 24
(d) Production/3cdrad 16=16 24 =24
Ans. (¢) : 98 Sifges fehar e & g 3o S gari| | 39 TFR,
F S AT 8 TS BT § | IS & & g YR § — E+H=M
i S 3R aTeifiTen Sfere | ?;_81:313
30. 12:144:: 2 34.  The UN charter consisted of /HIh T e o
(a) 15:135 (b) 10: 140 s e
(c) 22:464 (d) 20:400 RN
Ans. (d) : 779 SR, 12 144 (a) 111 Articles/111 ==
(12)° = 144 (b) 125 Articles/125 =%
3 bR, fFFed (d) ¥ - 20 : 400 (c) 390 Articles/390 3T
(20)2 = 400 (d) 110 Articles/110 3T
31. FAME-II scheme is related to/Q:qi.'Q}'QF.'s‘.-II Ans. (a) : T«l’g?ﬁ T §9 F 9T 24 JTHT, 1945 H
BISEll ¥ Heifer €1 T T AR &k Aew g & A off foeeg 39

(a) Agricultural sector/3H¥ &

(b) IT sector/3TE. &Y. &=

(c) Automobile sector/3TTCMHISTES &

(d) None of the above/3TE | ¥ HIg &
Ans. (d) : THTTAE-II (FAME-) IS Sofes
ATl 1 Tewe & e & #t T A1 g9 Ao ded
TN gAfEH e Tled | afge a4 21
32.

After the independence of which of its last
trustees, The Trusteeship Council of UNO was
suspended on 1* November, 1994 2 /30 fore

sifem =& &t weEar & o1 1 Jee), 1994

Hgh g W e I uReg fefad &

fe= r=?

(a) East Timor/Jaif fere

(b) Thailand/9Ecivg

(c) Palau/9eta

(d) Nigeria/ATgsfian
Ans. (c) : TS 39 TR U1 ifem o= & a1, R W
Tqh TS SRS 5 WA fohan 51 @1 11 9 §
e uReg g gt THE S R S % qveEn, |
TE, 1994 HI A UREE (TR T 30 FE RS
w9 ¥ facfam & feam

26 S, 1945 H TH HIYOT U W T 9 & FEER B
IE TIH T AL (UN. Charter) & &9 § iR fopan
T AT EHH 111 SR WA 2|

35. Find out the n™ term of 3, 9, 27, 81, ..../3, 9, 27,
81, ..... ST ndf U AT H
(a) 3" (b) 3™
(C) 3n+1 (d) 3n1

Ans. () : & T G @

3,9,27,81, ....... FI naf g

3q: nal U =ar"”! TYI%T a=3
9
= 3x 3" r=—=3
3
— 3n71+1
= 3n
36. is an auto-identification technology,
which is wused to capture and transmit
identification details of an object
wirelessly./ T&h ©-Ug deh-ieh §,

et s frdft ovg & uge faaRmr @
TEAE it ¥ Uehe AT yaia & & fordr
e T 21
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(a) Webcam/Sa
(b) Brain Computer Interface (BCI)/@? DT
FXHY (f1.4.37%.)
(c) Radio Frequency Identificaton (RFID)/%@"?J}
Fraad smeSfefhere (S wE.oE 2L)
(d) Internet Protocol Television (IPTV)/S"'E'@Er
Ferhre 2fefas (8. d.2ar.)
Ans. (¢) : IS Wt meSiefhehyq (3R T%.31E.21.)
TS ©-TgdH Tobi1s &, Forash 3uan 5l a5 & gea
fereRoT i areRed % § ghed R yERG S & o

feparm ST 21
37. The anionic sites occupied by unpaired
electrons are called/ AEI-LUR 1Y

T SRUTAT €A ST SHET ST &
(a) G-centres/ G- (b) F-centres/F-3h%
() C-centres/C-H= (d) E-centres/E-5
Ans. (b) : 3T goiFe= g R g3 Fomafre s
F F-H% F81 I 21 SFAA goagE, T T6 soae
BT & S Rl geidet g % 9 F S9g Uhd ®9
fepeft O] St e # @ R
3. _ is an unsubtle play of words on
Microsoft's Back Office suite of programs for

NT server./ VIl o WE @A hl
T, Helt 3G WU A1 WIEshIETHE ek AT
T YT B

(a) WANK/EU.TA..

(b) Back Orifice/d% 3iRfthd

(c) SPAM/TH.4.T.uH.

(d) None of these/3TH EEIHE
Ans. (b) : 9% 3TRRFT TH HH TIH 2 96T ST
T Th TG F e FEd Ht R fhar S € arefa
Tg T FAEe-HA FEAT T SHRA B 81 e ARG
IR F WE TA F TAA. FaX 3G TOH F ACHER

3% HFT W T 2|

39. The total number of time zones in the world is
.......... /forva ® Fer 9uT &5 i G .evnnn B
(a) 7 (b) 2
(c) 24 (d) 11

Ans. (¢) : fova & 3o g &4 # TEw 24 71 TS
&7 3§ THN 15° JUH H HoR Bl 2| GHI A &
T ST W gedl, S S wE A I 2

40.

The greatest number, which when subtracted
from 5834, gives a number exactly divisible by
each of 20, 28, 32 and 35, is/9E oW WS HEAT

ﬁﬁsss4ﬁﬁaﬁwiﬁmw@?ﬁ%
ST 20, 28, 32 3 35 H W yA® ¥ YU
forarsm &
(a) 1120
(c) 5200

(b) 5600
(d) 4714

Ans. (d) :

r
-
=
J
0

-
‘W

J
—
=

16, 3
16.
16,

222 WA

—_—] b9 ] o

LCM = 2X7X5X2X2X2X2
=1120
T o7 9t ¥ 9 T = 5834 - 1120
=4714
In PowerPoint 2003 to change the background
of the presentation you need to select
background from the menu. /9TeR Uige

2003 ¥ weght @ dwTSE wRafd W %

41.

feta, smueRt T | FHISE AT EA
(a) Format/HiTHS (b) Edit/ufse
(c) View/&q (d) File/wIsed

Ans. (a) : TR TEE 2003 ¥ T # T6ASe wRafda
FH & U SR B A T SHA™ES A S
42.

With respect to armed police, the head of a
battalion is called the/T9TEN TfeTq & HIUET,

SETfera 1 gRaan HEATAT B

(a) Commander in Chief/qEIhAST

(b) Deputy Commander/3ThHIET

(c) Commando/FHST

(d) Commanding Officer/3TGITHRI STRBHT
Ans. (d) : T U & OO FereEd @ g
AMEIEH 3RHE (Commanding Officer) ®@eldl 1
TH T FE G T R o W s fau
HUIaHIHE AT fereBiid T |
43. Which is the first Paleolithic site found in

India? /R ¥ UWET & UEEAT

T HF-9T &7

(a) Tirunalveli

[IEGICS

(b) Kathewar in Gujarat/&'@aﬂi, RSAG

(c) Sohan river basin/Tied 74 A

(d) Ajmer in Rajasthan/?:ﬁﬁ(, BSIIE)
Ans. (¢) : ﬁ?ﬂqﬁﬁwﬁwqﬁéﬁw
 ifthea & €1 e TRl ¥ IR T TER YT g
w9 § WeT 7 uet # e 1 g a9 9t g %
I TR & fodls, we WY H e ", SW
yaur § SR, S § oo, Ted § wrewd, sty
T H Jeei ¥ W R 9§ 1 Wied T w9l
aRd # e QO e &1 iR wor ded § i
vy 3ot FIA H 9RG § U7 FAF A I T |

Nadu/ feerad ,

in Tamil
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44. In Excel, the option present in

you to lock the selected cell.
29 ¥ g faehed AU TEta 6T bt Al
T T AR T B
(a) Protection/ e
(b) Format/ B8
(c) Font/®i=<
(d) Patterns/%e+
Ans. (a) : THIA § SR 39 STANHA B =gd I
F ol B Bl AR A 81 T qHEAS F AT e
ST 21
45. Eight college students A, B, C, D, E, F, G and H
are sitting around a circular table playing a
game. Four of them A, B, E and F are not
facing the center. D is third to the left of H,
who is fourth to the right of E. A is third to the
right of B, who is third to the left of D. F is
second to the left of C. How many people sit
between G and B? (If the counting starts from

B in clockwise direction)/ﬁlﬂ:ﬁ feremes & 8
feremeff A, B, C, D, E, F, G Ud H Ueh gaThR
29T & ORI 3T SIS i @A @A @ 21 S0
W ¥ A, B, E 3 F &1 T &% @i 317 & 2
D, H & &T¢ 3R ¥ ey 9 W W 76 E &
M T =S T W E A, B & od & dEww g
= fef D & ad ¥ @ ®1F, C & 9Q | AT
21 G 3T B & offer # feraw T &8 37 (TR

tab allow

gt @i feen # B § Feelt % i <)
(a) Three/ iG] (b) Four/=X
(c) One/Ts (d) Two/

Ans. (a) : TAER 8 fanfefai & S i w0 fead &-
B

G
3 G 3N B & a9 A9 @ & §1
46.

The term refers to the person with the
intention of finding some weak points in the
security of websites and other computer
systems in order to gain unauthorised

access./JTeg 39 Atk | G3rfa & S
AWTAFA UES U A &g da@rge HR 3=
HIET Juteral o GeT B &9 wuwiR fag
g o T W B

(a) Fraud/si (b) Hacker/2a
(c) Cracker/H®T (d) Theft/9we
Ans. (b) : B T ST § P AR g @ S
THSHIHT T § STIHT T T B g JoEEE 3R]
3T Y YUl & GRe § FB HHSIR g g
Erulccold
47.  According to this Article of Indian Constitution
a money bill shall not be introduced in the

Council of States./WRdta Hfaeam & foe

ITTWE *h ’IER TS &t fqe uRug # o=

Tardrae =t vy i feram <trar?

(a) Article 102/37=3 102

(b) Article 109/37=32 109

(c) Article 110/3T=3% 110

(d) Article 105/373% 105
Ans. (b) : HfaEE # (31=%-110) 92 51 & fagas
& URd H % Gou § U &y gfwer fkd § qur 9
TRT B b foId SR 109 & ded fawm wfar &
Sree R T 1 UA fadEs & dew § e giwer e
faeres el &t ufteg # v 98 fan S oA e
ae ARG H A AT ST HehaT 21 e # qifia
B % ST 3H TS A % fermre S e 2|
48.

lets you perform fancy effects on
words/letters upside down writing, words on an
angle or a curve etc./

ITeRl /AN W Heegh g fenfea &,

feredt shiuT Steram @k WX IIeg 3nfe HWR e

et e 21

(a) Clipart/fraeme

(b) Pictures/fue=d

(c) Wordart/ g1

(d) None of the above/3 H & &I &l
Ans. (¢) : AR UH IHE WERN a0 8 S THUE.
I, TR, T Uige, UfsvR H U Bl @1 9% U8
# &9 @1, o, I9%, DU, g6, e I7 fmd Hior
3ol d5h W VI NS forg H R g 2
49. Erwinia carotovord causes/ST=raT E G e

o SHIUT T BT &7

(a) Aster yellows/T&X I

(b) Soft rot/EFE T

(c) Crown gall/shR Tia

(d) Forest soil/ BRE |igal
Ans. (b) : TR AN, dtdl § 29 arel Th S
2, T BN U (A, W, o o H Hue e
(zefat & wea) A I & S 2
50.

A leader who is goal oriented and largely
concerned with accomplishing set tasks/Uch

AT W AT-3@ § 3R WL Yum Wy fruifa
w1 w0 A W e §
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(a) Authoritarian leader/STaral el

(b) Bureaucratic leader/ATHTME a1

(c) Instrumental leader/S@Tdh Jar

(d) All of the above/3Th Tt
Ans. (¢) : Th I S TIA-IG T ¢ 3R & &9
fauifea saf = QU T 21 WerEs A (Instrumental
Leader) hgcrdm 2l
51. 50 years of Bangladesh War of Liberation was

celebrated in the year /STyl ¥ g T

50at o T W HATET T R

(a) 2019 (b) 2018

(c) 2021 (d) 2020
Ans. (¢) : FIARY F FaAdl FAF a8 1971 F g3 T,
W R wm off Fed 21 s el S0 s o
2021 ¥ R TR TH gfe dym F aieey, 9Rd #
1 TEEd § UfHEE § Ten @l T4 WA T
1 39 g5 | Uik W 9Rd & e & suaed #,
AR ERT 16 ek &1 foor feag & &9 # #74m@r S
2

52.

The Shimla agreement in 1972 was signed
between,/a8 1972 | fyTHeT Wugiar feraen sfiwr
BT ar?

(a) India-Nepal/ Sa-=aret

(b) India-Pakistan/ 9d-qTfeh&dT

(¢) India-China/9Ra-=i<

(d) India-Bangladesh/ JRA-FTATGI

Ans. (b) : S[@E, 1972 § 9RA &l FeeA e e qun
TIfREA & SHFHAT SJfethebr 37el s[eet = e # 1971
% 45 % 91 Gy W gERR 1 @ & e e
& A Y ST ST €| 9 1 A S % faee § e
ot 31 IO FeEEAT I EHR T fRaAr S|

53.

The ratio between the radius of the base and
the height of a cylinder is 2 : 3. If its volume is
1617 cm’, the total surface area of the cylinder

is/Ueh ST hi SR at Brem AR =g &
sfier &1 31U 2 @ 3 ¥ Al TR MG 1617
em® &, A7 SO T hel TSIt SSThel €
(a) 540 cm?/540 T2
(b) 770 cm?/770 |t 2
(¢) 308 cm?/308 T2
(d) 462 cm?/462 T2
Ans. (b) : T ST & 59 2x qO1 FEE 3x Bl
TSN -
nr*h =1617

%x(zx)2x3x:1617

s 1617x7

=257
x=3.5
s r=2x3.5=7 cm
h=3x3.5=10.5cm

BRI
=2><2—72><7(7+10.5)
=44x17.5
=770 cm?

C.L.L stands for /H.Ue1.313. &1 7aea &

(a) Common Line Interface/HAT AET T2ThHY
Interaction/3MHT TS

54.
(b) Common  Line
ERALCAE]
(c) Command Line Interface/&HHiE M8 215y
(d) Command Line Interaction/®HiE  ogd
EEACENE]
Ans. (¢) : GL.UA.3E. & Taeisl ‘HAS g LA 2|
e ST FuiE o i & g fpan Smr 81 g
AN W T, HEEEX WEEl & W6 F 3R
FFT & Y ST i 1T fhar S 2
5S.

Mayal Pratap is on the 13™ position from
starting and on the 17" position from the of his
class. He is on 8™ position from starting and on
13™ position from the among the students who
passed. How many students failed? /AT Adq
AU FAE W OYE 13T T W qew o |
174 T W 1 ST G%S gY ¥ SEH I 9
SHET T §AT ¥ Wl i W 134T w W
feramr feremeff srawer @?
(a) 7
(b) frafRa =& fopam ST wepan
(c) 8
(d) 3T F T FE A
Ans. (d) :

e § 3 foandf = 7I g9 F YE G WH + 397 G
M - 1

=13+17-1
=29
ERIRED
Fd g feamdf =8+13-1
=21-1
=20
o7: el thet fermdf = 2920

=9

X =
22x12
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56. Which of the following is the rupee nominated

bonds issued outside India by Indian

entities? /fEfeTiaa & & hIA-HT WRA & deT

gRdiar weemst g Wit fwer e wwEn

Tegat T o 87

(a) Bharath Bonds/¥Rd i€

(b) Masala Bonds/HHTell g

(c) Sugar Bonds/dI aig

(d) None of the above/3TIH & T HiZ Tl
Ans. (b) : TETCT i€ 9RA & 9L GRAE Geemsii g
ST fham T FUA gowa & S 21 SeR Svs &
forie (oef Sumehal 1 951 Sifaw oF1 TSl §) HEel
afve ¥ favel & ST IS gedr 81 F9eK 2014
forva &% & TIEA BIEAY HOURYH FRI TgA HETAl
dfve S far T o

(2.3)*-0.027

57. 3 s/
2.3) +0.69+0.09

The value of L

(2.3)*-0.027
(2.3)" +0.69+0.09

(a) 2.33
(b) 227
(c) 2.6
(d) 2
Ans. (d) :
{ (2.3 -0.027 }

(2.3) +0.69+0.09
(23)" ~(0.3)’
(23)" +23x0.3+(0.3)°

e

(23-03)x[ (23)" +2.3x03+(03)’ |

[(23) +23x03+(03)’ ]
=23-03
=2
58.  When barrier bars and spits form at a mouth

of a bay and block it, results in the formation

of /T8 T WIS & e W AR 9 3R foe

Fd € X 3@ sig T A § 1 THeRr uRunw

EGIES

(a) Estuary/HgrT

(b) Beach/&Hx <

(©) Lagoons/f’hff

(d) Barrier reefs/dT¥ T2
Ans. (¢) : 99 UH WE & oM W IR IR 3R fore
90 € oIt g9 &% B 2 € A1 5Bt IR S B 2
T, U BT Th 3Tl 9T BT @ S 9 UMl % HSK

(AR W TEErR) ¥ Hear, s €v ar gm et
g SR B 81 Faew TR w1 999 e g &Y @
THT A a1 A 2|

59. The exoskeleton of Cockroach is made up
of /RTeRIe hT AfE:ehehTel AT BIdT &
(a) Collagen/Icts
(b) Chitin/=rEgfeA
(c) Chondratin/=i=g1fe
(d) Chondratin sulphate/H-g1eT The
Ans. (b) : HHUT H SRSl HEET Hl a1 &l 81
ST 39 TR H HR & FT 21 Tg T a8 e
a9 2|
60. Which Section of IT Act deals with Hacking of
computer systems and its penalties?/a'l's‘.ﬁ.

FfafEm &t wE-H O wrEger faen @t

T 317 37k << ¥ weifia 772

(a) Section 62/41T 62

(b) Section 67/910 67

(c) Section 65/491 65

(d) Section 66/41T 66
Ans. (d) : 3531 fafam & u-66 Hrage faed &
2feE 3R 3T <5 ¥ Gl 81 39 WauE 7 R =fe
F foau T SHed a9 dedE o R @ 3 ey
A &
61.

Mohini went to the movies nine days ago. She
goes to the movies only on Thursday. What day

of the week is today? /Mt =t femr o v frewr
@A | 98 e TEAR i fhew @ el
T AT g T hiA-|T o &7
(a) Sunday/{fdar (b) Tuesday/HTeTaR
(c) Thursday/T&aR (d) Saturday/3THER
Ans. (d) : TRAFER,
O

3 A WA B
62.

76 54 3 2 1
L 1 1 | I

To see the document before the printout is
taken, the following option should be

used /THEA=ET A4 W Uget THATAS hl @A &
foru frfafiaa faerea st weinT feram iaT &
(a) Paste/T&
(b) Format painter/®HE U=T
(c) Insert table/T 92 29
(d) Print preview/fiie firsg
Ans. (d) : ffiT3TRe o4 ¥ 95 AT # 3@d & g
fife frey fasea &1 yaT fopan ST 21 SR e shol

Ctrl + F2 &1 21
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63. How many smaller pieces have exactly three

painted faces when a cube is painted and cut
into 729 smaller but identical pieces by making
minimum possible number of cuts? /SI&l TWeh ¥+
W O AT ¥ SR =gAAw e o gu 729
B W] THH THST W HIET WIAT § A fohe
B THIST W TN g T "ol 2l ?
(a) 6 (b) 4
(c) 8 (d) 7
Ans. (¢) : TF1 & §@& = x°
729 = x°
x=9
3 7 % @9 was T g8 ¢ = 8 Fif 7§ Fad 8
4 2 2
64.

In the following question two statements are
followed by two conclusions. Choose the
conclusion that can be validly drawn on the
basis of the given statements./fT=TERId J9=

Tt wuAl & dgq o frerd few wo @) sw@
frrerd a1 o S O feU T e W e
T T B A Rt ST Teha 81
Statements /<R :
1. Some chalks are dusters. /%S Tich SEI Ky
2. All the dusters are boards./ A+ TLT e &1
Conclusions /fTeRY :
L. Some chalks are boards./&® ik S &
II. No duster is a board./Tzl-ﬁ's£ TR EIE TE B
(a) Neither Conclusion I nor II follows/q ar
foreee T & 11 S1geeor el 21
(b) Both Conclusion I and II follows/I £ ra |
AT ST H F
(c) Only Conclusion I follows/Faar  fspd 1
STTERT A 2
(d) Only Conclusion 1I follows/&ad fassd 11
STTEROT T 2|
Ans. (¢) : TAIER - 99 3G e ¢ -
fshel : 1L (V)

IL (%)

3d: Haet fsks (1) Fieherar 21
65.

The consequences of a social process that are

sought or anticipated, are /Wit 'r|§ IT YA
| Wik o ufkuma 2l

(a) Social functions/dTHITeh

(b) Both (d) and (a)/(d) 3R (a) It

(c) Latent functions/3Te3<h Fr

(d) Manifest functions/Ssh< e
Ans. (d) : T T a1 v wmfse sk & aftomy
vhe FE €, SEih oreah s fRd g sfEear &
3R R I
66.

Who is the present Governor of Reserve Bank

of India?/¥Rdta Sd sk & adA T

w &7

(a) Dr. Raghuram G. Rajan/ST. H SIARSE]

(b) Shaktikanta Das/3Tfheia a9

(c) Dr. Urjit R. Patel/f. 3R/ R, w2

(d) None of the above/3TH H § &I Tl
Ans. (b) : 9T RS &% o adqM T wihehia &y
g1 I 9N & 259 T &1 SRALIME. F TEe T W
T g o o WAd WRA % Ted TaR LI e
q| 39 dF F T IRGE Rerd o sfufEm, 1934 %
Tl % STER 1 37, 1935 & g8 o
67.

If succession occurs on bare rock, it is known

as/afg Tt TEEl W ITIECT T ¥, 3

__ wed R

(a) Primary succession/gf¥e SRIEd-

(b) Physical succession/¥ifieh ST

(c) Negative succession/RUTHD ESREE]

(d) None of these/3TH ¥ i el
Ans. (a) : aR Ff Sl W SUUEdd @@ 8, 39
Tofih ITEAT Faq & | ARHA B AN TgH F ol
SRIEENEIETIRC I
68.

A student scores 64% marks in 6 papers of 150
marks each. He scores 25% of his total
obtained marks in Hindi and English together.
How much is his total score for both these

papers?@wﬁm 150 3Teht & 6 YU W
64% 3ich YT feRw) o 3TU= Hel W T 25%
Tt oiX ofsh o ww wrwr yrE wEar §1
T YU o fTT SHeRT et 3k TehamT 272
(a) 120 (b) 144
(c) 140 (d) 124

Ans. (b):@:&ﬁ?ﬂ@ﬂ‘{ﬂﬁ% =6x150

=900

DA H Sih =900><ﬁ
100

=576

25

mm%&ﬁwaﬁsﬁﬁmwzsmxﬁ

=144
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69. Four different positions of the same dice are
shown. Select the number of dots that will be
on the face opposite to the one showing ‘4

dots’./Ta & & =R fafaat quiid w2 2
o v w4 fag €, oo foadfte were W

forgett &t e i

Ans. (a) : &3 ™ 9 F Refe=i (1) q@w (101) ¥ -
TS G B am § el bers e 2-

2 1 3
2

@
o 4 & foulia wag W 2 farg &
70.

In a presentation you can include information
such as the company name or the name of your

department in the ./Th Bl'{_-gﬁr )

FOAT W U T ATH AT U fumT @ Aam

W onifer & " B

(a) Title/2r8eet

(b) Footer box/%heX siierd

(¢) Header box/geX e

(d) Status/®Ig
Ans. (b) : T TEA § T AT AY U N AH A
AT 9T B AW e Sfe § WA HR THT &1 HeX
g%amaﬁ%sﬁﬁs&a%ammﬁnﬁﬁzaﬁam

|

71.

Which of the following State Governments
recently has launched COVID-19 affected
livelihood Support Scheme? )

HE-H T WER T T § A wifre-19

T STSHTerehT TETHAT TS 3T Y &2

(a) Manipur/HUTq

(b) Nagaland/:ﬂ?ﬂﬁ‘ﬂér

(c) Mizoram/ s

(d) None of the above/3TIT § T HIZ T2l
Ans. (a) : JEIHA & I AOTR T TWHR 7 Hifde-
19 wwifea sTSiifoshl weraa As1 aRe & ff 1 fSwe
IV W 3T URAR B A T R H 5000 T H
YedeT EAIALOT Fa HET ©, oAbt Seiferser ST areRe
TR & weifed g2 2|
72. The printed price of a book is Rs. 320. A

retailer pays Rs. 244.80 for it. He gets
successive discounts of 10% and an another

rate. His second rate is/Ueh J&ieh T Hisd oo
¥. 320 ¥ Uk Feoht forchal 3 TTT &. 244.80

T YA AT §1 3/ 3/ W 10% 3R 37 T}

(a) 14% (b) 16%
(c) 15% (d) 12%
Ans. (¢) :
. 100—P,) (100-P,)
A o = JAfehd ( . 2
s e 100 * 100

100-P

244,80 = 320x—2 10— F
100 100
100-P
w =32x9x M
100 100

24480 = 28800 — 288P,
288P, = 4320
P, =15%

73. comes into play whenever a process is to
be removed from the ready queue thereby
reducing the degree o of
multiprogramming./_ dol qﬁam o 3Tar
§ 9 JuR UftE | T GiERAT @ g e §
ATfeR AT it feuft wretd = wehl

(a) Long-term Scheduler/@T-ad ‘xﬁ@\{?ﬂ

(b) CPU Scheduler/¥1. 9.3, Trgger

(c) Short-term Scheduler/¥e-2H IR

(d) Medium-term Scheduler/Hfeam-28 Irgger
Ans. (d) : Hfem-ad SggeR @ qfw & oar § 9w
TR e & U SERAT FT G BT & Ak Heel S
# foft s s w1 ag Aew eEfy wegfem Wi
AR 1 T o 2
74.

Taxes on incomes of the individuals as well as
profits of business enterprises is /Rl At

AT & WY-WY ATTETIh ST ok AT W

THI-HT T ST ST & ?

(a) Indirect taxes/3THcHRT T

(b) Tariffs/eh

(c) GST/Si.wg. .

(d) Direct taxes/JI&]
Ans. (d) : SR H T W, T4 & WG FLAG A
% T WX STl S Tl SR L e 21 S
uft X gfed faftr=T 3evel & T SR & g R
I A B 2|
75.

_ regulates the functions of securities

market, detects malpractice and protects the

interests of investors./ gfasIfa aTeR &

Tt ol A ohaT §, HeTe Rt Ual STar

% 3 frawmeRl & Tl @t TRa ot 2

(a) National Securities Depository Limited
(NSDL)/Ava faiftdier feuifsed fafies
(TH.TH. 8.1,

(b) Central Bureau of Investigation (CBI)/@RAT'T
= S FHafeTeH (Ha e,

i Thiteh B Trerdt §1 Swent gadl o = &7
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(c) Bombay Stock Exchange (BSE)/sfWl Wi
TaEs (.U E.)
(d) Security and Exchange Board of India
(SEBI)/HIRE wre waEs a1 @i gfean
(i)
Ans. (d) : IFRE e WS G 3 e ()
yferafa R & wE i FERT Fwar &, S Hogd
T 8 IR Frawnt % Rl # gEw w1 gEe
AT a9 1992 § us denfas e & w9 # T o
T T g # e 2

76. After Karyogamy the fertilised egg becomes
which structure? /SRRET & &g fafera aier

HF-H AT 9T 872
(a) Pollen sac/T{TT et
(b) Ovary/3ER™I

(c) Zygote/.?ﬂ%"'ﬁ?

(d) Embryo/¥uT

Ans. (a): g0 = agdt woal & o v Foa 9
3R qveh de faeRor somelt 21 59 i # o o @
# s S @ a9 uE S del A el W gE-aR b
ZYHIET ST B

79.

Find the odd one out in the group of

letters./ﬁqmmﬂ%ﬁaﬁﬁaﬁﬂﬁql
(a) IR (b) KO
(c) BY (d DW
Ans. (b) : &3 T yv7 & fobeq (b) H fam W e
‘KO’ =1 ¢ el o ool 9w g & fawda
3l g T E T #
80.

How many times do the minute hand and the
hour hand in a clock coincide with each other
from 2 p.m. to 8 p.m. in a day?/Uek T T2

p.m. ¥ 8 p.m. T Tha-t o =2 iR fime =t

Ans. (¢) : AT & w18 FHfE 3fer S S 2
I TS GO AF AT B € A 3T FHGHE Hed 2
JUgrHHl % TAN F G Fed |

77.  1f 3" April 1752 is a Monday, which day of the
week will 26™ April 1752 be/afg 3 3Ty, 1752
Teh GIHaR ¢, 4T 26 31T, 1752 TG T -
w1 fe am?

(a) Sunday/{feEr

(b) Saturday/?THaR

(c) Monday/iﬁq’cﬂ(

(d) Wednesday/J84R

Ans. (d) : 3 3 1752 —> THER

26 A 1752 —> ?
9 o =2

7

=2feq
3T 26 I 1752 B GHAR +2 fam
= FEER BT

78.  Which type of irrigation is most efficient water

and nutrient delivery system for growing
crops? /St wEel & faa fRd g @t
o we| I I ST wwes e ferawr
Uttt & ?

(a) Drip irrigation/fga fe=rg

(b) Flood irrigation/%Ts =g

(c) Sprinkler irrigation/@w =g

(d) Fog irrigation/®eq &=

T3 T St H T g H des o it
(a) Seven/dTd (b) Four/=X
(¢) Five/dra (d) Six/®:

Ans. (d) :

.+ "0 T fiFe & gEA gos e H§ UH aR §Ew
Bt 21

2p.m.—8p.m.ﬂ$§ﬂW:6‘€(@

- Gt 6 IR g gl

81.

Who is the current Chairman of Union Public

Service Commission?/HE ek HaT STRENT &

FAHT 3TeTeT I &7

(a) Smita Nagaraj/ferar TSt

(b) Manoj Soni/5rs G+t

(c) Pradeep Kumar Joshi/¥aIq AR et

(d) None of the above/3TRI® § T HIZ T2l
Ans. (¢) : IR & GUT T b T AN & 7L
vdq $AR Sl o1 aduE § W 2023 § 99 Ae o
ST & 7EAe TF. WA G 2
82.

The primary sector of Economic activities

includes /3R Tfeafafiret & grafier &= &
gTftreT

(a) Agriculture/Sf

(b) Fishing/Ac qre

(c) Forestry/aTfet

(d) All of the above/3Th H T Teff
Ans. (d) : T Tfafafee &1 98 &7 S Arpfae gament
&1 HeT SYANT A & 3U Ml &7 FEd &1 gE i,
e e, aivet STfe wnfer 71 enfeen wiefafire
fyciiass & awqeit @ fafmi qor gdias &7 dand wee
HT 2
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FRATUT Yiere shivearet udter, 2021

ST Aigd &1 Wo1-3

woq utett (SET-3)

(urfter fafer - 2 FEsR, 2021)

1. Uk Ul it o fafus Rafaat foag w8 € a8
yrsg g o e’ & faudta were o g

Ll et aiee e
(CYRSIS (b) aEer
(c) 30 (d) drem

Ans. (d) : T[T T -

S B Hhesh 80 SR o WIS 21 gEfe fielm &
ool wets W G g

37e: faeed (d) WEi 2

2. C,B®t Ut 81 E, C o1 IF €1 A, B &1 918 3R
D <kt i@ €1 E ST D | <RI Heier 37

(a) & (b)
(c) HH (d) =|f
Ans. (c) : 999 3G 4,
O—> Hfgen
oA ard A A JwR
%’ &
<$F=|=r --------- D
3: GaY IR ¥ W g {5 E, D & S 21
3. It is the concept of analyzing different societies

of cultures in an objective manner without
comparing them with each other -

TE Geepladl o felivsr GOt or 5% TR gEl

& |y fomT ger fore g ol & fageraor

& I Teh LM B

(a) Social relativism/STHITR TIUETATE

(b) Cultural relativism/Siehftes TTUeFaTE

(c) Moral relativism/Afdes diememE

(d) None of these/3TH EEIHE]
Ans. (b) : GiEpfieh TUER GWHfadl H W9 & ford
B g aHs T §1 ar Gepd & fane gue
N IT TH W F Y G g K asgie qls ¥
fEveioor 3 # T FAUROT 21 WiEpas qieEE T
foer @ foros ded fdt depfa @ A, gedt it
wemsil 1 3 HEpfd & YR W wwWN AT AR, T %
Y AT TEH H Aaed, Tet iR e Y Ads
W G B 3T faudia fofer forar smm =nfew)

4. Under what does the power of the High Court
to confirm the crime or cancel the conviction
come ?

T @ g w A1 qEidfg T R @

el ATATAT i 91k Fohdeh  daa aaTdt 872

(a) Cr.P.C. section 368/dl. 3. di. &. & 9m

368

(b) Cr.P.C. section 369/€1.3L4L.Hl. & 91”1 369

(c) Cr.P.C. section 364/H1. 3G, = 9™ 364

(d) Cr.P.C. section 367/81.3. 4.4l &l 9r1 367
Ans. (a) : ¥ 3R @ T (CrPC) — 368 & ed F YT H
77 qefify & | AREE R off sty & fau
I g, AR =AfE F T B F WG ST A
# fafgd 21
et

(CrPC)

369

CLrp)

T A T g WA A %
FEER Sfart

Ta fofa & eraR & dafed

364

fredt et & erowy = FEfvar & e
% ST & A AR e o @l

367

frer 3 &t i

5. International North-South Transport Coridor
(INSTC) can connect the

sttt STR-gfm afaeT TRTERT (INSTC)
® W Tehe B

(a) UAE and Indonesia/{.?.g. 3R gSMRmE

(b) Mumbai to Masco/ﬂ'a':f T Hieh

(¢) Mumbai to Madrid/§¢ ¥ #fge

(d) Pakistan and Isracl/Tfe&d 3R g
Ans. (b) : STEUFE IW-aRuT TRaga Tferam (INSTC)
WRA, $H, TGS, &9, 7e URE & d9 WA gar
* ford Serl, 3 i ggd Al & gedl-AIs-Aead 2|
Tg AR §o T bl i TS Fobell 8|
6. Who are the first among the 15 Soviet republics

to declare their independence in 1990?

o9 1990 W 3T TASAT Wt HUUT HIA AT
15 Hiferaa TURTSE | & UgEAT hid AqT?

(a) Lithuaniaff?ﬁ«’g?:ﬂﬁm

(b) Uzbekistan/3Sfr&

(c) Latvia/cTrafer

(d Georgia/?l'vlﬁ'aﬂ

46



Ans. (a) : 11 719, 1990 @i fagsnfaar 5 = & f6
T T @A Y 2§, T K el Te Qi 1oy
a1l I8 TF aifced 39 21 oa: fashed (a) T 2

7. Where is Jhuming agriculture system adopted?
T i ugfer wet STomTeht St 27

(a) Central America/A&d Cpitea)

(b) China/==

() Indonesia/gSRTAT

(d) India/9Rd

(a) Only the statement II is correct
el B 11 T B |

(b) Only the statement I is correct
o Ho [ T 2

(c) Both the statement I and II and II are
correct./HYA 1 3 11 g41 & 21

(d) None of the above/SWh § T Hig Tal

Ans. (b) : H%{ 2018 § qof €9 § WHR /T fom qifeyer
TYHEE SH SR ASET (PM JAY) R STse aRd

Ans. (d) : FHT H g5y gRa & sygarEd S @1 9w §
A B I €9 § IW-@ 9Rd § @R 9 51 H
S 21 TEH VNS WeW, AMvs 3N S & a
& &F T 71

ECieat] T AT
TehT STt
[SER ESEINEI
forea Afrht

8.  SPOOL stands for/SPOOL ST TaeTsl §
(a) Symmetric Peripheral Operation Off-Line

(b) Simultaneous Peripheral Operation On-
Line/ IRGTA AR 3HT9-arg

(c) Symmetric Peripheral Operation On-Line
fomfes IREA AR 3FA-ame

(d) Simultaneous Peripheral Operation On-
Line/STsHae a8 IRt SiReM 3ifh-amga

Ans. (b) : SPOOL & Wdold HEHRFEE IRHA
SMRYA TH-@RA (Simultaneous Peripheral Operation
On-Line) 21 Frgfe #, wyfeln e suwwn & =
321 & SR S99 & ITTT § AW (Multi
Programming) T Tsh fore &9 21
9. Consider the following
Ayushman Bharat Yojana.

T qRA DT o R | frferfaa weat
R faem it

I. Ayushman Bharat Yojana, also known as
the Pradhan Matri Jan Arogya Yojana
(PMJAY), is a scheme the aims to help
economically vulnerable facility./3TTIHT

ORA AT Tl FEAET T 3= ST
(fmasgam.) ft w=a €, e wv
W HASI WA hl TETEAT i U At
T R wrm Imww gl &
TAIHT &

The scheme provides Rs. 5 lakh converge

to every family per year./EﬁFF-ﬂ Py
URAR @l Yfqed & 5T &1 Hwel Ja=
Enild

statements about

II.

AT % A § ST ST R

Jg AT WEAfE d@ud ok WYY gaEs SEere
3q 90 ddUa gRe WRER 5 dr@ ®9C oA i
RICCIkS

w@reed A Yehs H Goill, @1 Td 3 STER garst &
AT 3R free wnfhe 2

TG ST B R T &9 § fpar S 7, el Tt
3N HEIMET 92T & a9 § &5 U6 o9 & 0eF
60:40 JARR Tl q9 TY-HyHR, e @ Swds
F fT 90:10 3R W fufae o FH=wniad w=e 3
100% feradrsor gffem e mar 21

g AT N T T FUSR ARAE & e TgrE
% fou @fem 21

3 B 11 TTd 9T 69 1 et @ S 3TN 3 e 1
3R FHo 11 21 B Tt T @ S fop 3fea et 2

10.

7 men can complete a piece of work in 12 days.
How many additional men will be required to
complete double the work in 8 days?

7 STTEHt Tk Wt 12 fe it H o R wend #
8 fo=t ® ST w1 U wH & few feRa
JATCTRTh T&AT et STTETAHAT B2

(a) 14 (b) 21

(c) 28 () 7

Ans. (a) : AT SR e & @& = x
TRAMER,
M, xD;, M, xD,
Wl - WZ
Tx12  8x(7+x)
12
21 =7+x=> x=14

Fq: Al gesl St G = 14

11.  Which is the capital of Matsya Mahajana
pada?
T WETS-UE eht TSTLT <Rl A9 o7 82
(a) Viratanagara/feIeATR
(b) Mathura/AgQ
(c) Varanasi/aRordt
(d) Kausambi/a3mst
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Ans. (a): I8 & 9 & 9 63 v 91 9F H 9Rd
ad 16 WeHUEl H e g ATl IEe SMeN g
SRR AT S T st g # firerd 2

TETSUS REBIE

o= feRreTR

TR o

e EIN izl

et FRIUTE
12. Which of the following is example for Sorosis

(composite fruityf = ¥ ¥ wEA-GT AR

(SIS et ) ShT SSTETT &7

(a) Apple/ﬁﬂ (b) Pear/ATSTdT

(c) Mango/3TH (d) Jackfruit/shegel
Ans. (d) : TRRIH (Sorosis) TH THR H THIES a7
fafs ®et @ SRIGE e, el o Sfeay Ty 9
foehfm &I 21 98 Heed, FEN, Weqd ok § urEn
ST 21

13. Which of the following is the United Nationas
specialized agency for Health?

frafafas # 9 ®A-T @Re ¥ 99 g
o @t fervrdiera weidt €7
(a) World Health Organization (WHO)
foy @ d11ed (T, Ta.31)
(b) Center for Disease Control (CDC)
Fet wR i deter (@)
(¢) Food and Drug Administration (FDA)
T T R FeEE (TH.ET.)
(d) None of the above/SWh § T HIg Tal
Ans. (a) : T 3] g% TP G4 i founfiga TS foe
@ §e4 (W.H.0) 21 fag @mes @ga (WHO) &
T 7 3 1948 I g A1, IWH A S
(Reeseivs) & 21
14.

Click button to find the first occurrence
of the data.

BT S Ugell AT WA & g e
R T & 2

(a) Find Next/®lg< e

(b) Find What/®T8~g dic

(c) Find Last/®Ig~s <&

(d) None of the above/3 | T Hig Tl

(a) Directory/@'l’aliaa‘:f
(b) Envelopes@ﬁ@[
(c) Letters g
(d) Labels/aaed

Ans. (d) : B-A90 (Mail-Merge) ® w@aeq (Labels)
YA U HHfeF HA H & o U0 (address) T &
ferr grar 21

16. Reforms were introduced in China in
=7 & U snfefer gam T o] gE
(a) 1991 (b) 1978

(c) 1988 (d) 1985

Ans. (b) : 99 § 7T onfd® gER 1978 § @A) g5 A
s R’ P e TR W FUR 3R o § &9 F f
ST e 8, fafE seR & enfle gl @ gl e @

R I forgareti & w9 guSER’” Far S 2

17. The total numbers of students studying in a
school is 10396. The ratio of the total number
of girls of the total number of boys studying in
the school is 52 : 61 respectively. What is the
total number of girls studying in the school?

T TheT | UG aTet BT i ohet HE&AT 10396
21 TheT ® g Ot TTSfeRal ol el WEAT
IIUTT IRl Tl HST HEAT T THA: 52 : 61 ¥
Thel | UG W& TTgfendil sht Shet T o &2

(a) 5216 (b) 5612
(c) 4874 (d) 4784
Ans. (d) : 71T Tpd § ARl & & = 52x
a9 ASH FH HEA = 61x
e BEI S H&AT = 10396
TRAMER,
52x + 61x=10396
113x=10396
x =92
. %he | U8 W@ Ieihdl il ol §& = 52x
=52x92
=4784
18. The second largest country in the world in

areas is/&AhST & I A o = U o
ST 9T HIA-HT1 8?2

(a) USA/gWH.T (b) Canada/sh-TST

(c) Russia/&9 (d) China/==

Ans. (a) : ST & UgaT 3 I & 73 BB A9
e W forete fopan s 21
15.

In Mail-Merge is used to create

address for a group mailing.
AA-7t A W AT T Wfee T
HH o T ua s o fow gt

Ans. (b) : 9% # 3F ¥ fay & T GO T AW
FAET 81 I8 IO STARHT HeET § ey T Sfh vt
3y 9 fay & g T%7 39 §9 31 &A% # gF
forg o 9 &1 T WA 2

&R & U ¥ oTaUd W & AW - §F, FAI, G
TS 3R, =4, sl eferar i are |
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19. H67j, m71Q, V73b, i79Q, ? Si&eT YUt &
(a) z83] (b) A87b
(c) y831 (d) Z83j

Ans. (d) : & TE S feeq § -

H +5>m

+9 SV +|3> i +1?> 7

67 > 71 >73 >79 > 83

qT — AR B HAW: AT sl & w9 d for@n

™ 2
31d: ? =783j
20. The police has a hierarchical structure, with

the police constable and the at the two

extremes of the organisation.

T wt Tk URIIeRHIT SO Bt 1 e,

e % FAT BR W gieE wiead 3R

A &
(a) Deputy Superintendent
IUEftersh

(b) Inspector/ﬁﬁ%

(c) Superintendent of Police/E[T%W 37efersh

(d) Director General of Police/E[T%W ERIEENE
Ans. (d) : I 1 TH TEEHE G A €, ford
FT ¥ AT SR W g FAe AR O TR
Eakd

21.

of Police./gfeT®

Which of the following Committee was
constituted to Deepening Digital Payments in

the country?/29T ® fefied Jmam &t yfera

wH & fou fafafaa & @ e afafa =0

T3 feRar T or?

(a) Urjit Patel Committee/3fa g2 wfafa

(b) Nandan Nilekani Committee

e e afufy

(c) Subha Rao Committee/gsITd gfafa

(d) None of the above/SRI% & T Hig &l
Ans. (b) : 39 ¥ fefed = &t wwifeq & & forar
e HicrBfiT # stemerd § RBI W e Sfufa &1 e
fepam e ol 3w Wi T FRERE, N SR AEw 3
A TR T T ST ¥ 9 g e
forear w1 1 fawie & ¢, @f 2w & fefea fada

TEYE  guR fRar ST 9|
22. The basic units of nervous tissue
TRt ek i T SHISAT 8
(a) Brain/Af&Tsh (b) Axons/37Tdq

(c) Neurons/=R=q (d) Ova/3Tar

Ans. (¢) : JUF (Neurons) UH df¥ehT HIf¥mhr &, s
et o T e B &1 A S de aF & fmio
A 8, T& Fah o FIVEHE Y a0 g 8, PR
= (Neurons) Fgl ST 2|

23.

The amount of carbon fixation approximately
in biosphere annually through the process of

Photosynthesis is/JhTIT HYGHUT o WihaT o
A | diitieh ®Y T JaHSA | TR Hia
TrerfererTuT =it W §1
(a) 4 x 10° kg (b) 4 x 10* kg
(c) 4x 10" kg (d) 4 x 10" kg
Ans. (c) : JHIY GYAWUT & WpAT & memw ¥ it
®G Y SeAUSA § AN HEd Rl & oAEn 4
X1013kgf§|
24,

The highest peak of Peninsular plateau is

g TS St Terd et et §

(a) Dodabetta/STaET

(b) Anaimudi/3TTEHE!

(c) Armakonda/3TdeigT

(d) Mullayyanagiri/ﬁﬂ@?ﬁlﬂ
Ans. (b) : TIEET TR F TEE A G SRS 2
T8 R o 3SR oI F 2695 HieX A HaE W e 2
Ay a1 dfeg TS & AafR e § g Hafi
Tdd i gad e = 2
25.

A shopkeeper earns a profit of 12% on selling a
book at 10% discount on the printed price. The
ratio of the cost price and the printed price of
the book is/Teh GHMER Tk U&h ol Hixd
T W 10% T Y& W a9 W 12% hT T
il YT 1 ek o T Tod 3R gy 9o
T ITTAT T &7
(a) 47 :56 (b) 45:51
(c) 45:56 (d) 47:51
Ans.(c):WWWﬁW{W:x
x100 = —Ox
56
(Af3d TeT) MP =—x100 _0,
90 45

A ST = 9 e : HfST g

50 50

—X : —X

56 45

=45:56
In the Wacker process, the oxidation of ethyne
to is catalysed by PdCl,.

T isham | 3ATET o
wfeRaT PACI, §RT SR BIet B

CP=
112

26.

o, ST=E i
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(a) Ethene/3dH (b) Ethanone/3a1
(¢) Ethanol/3a=Tar (d) Ethanal/399a

Ans. (d) : 95 3FFAT F 3989 ¥ 349 (Ethanal) #,
399 1 9kAr PACL, 310 AR gt 21 defgam (1D
FANEE 8 Goifead SEaNEe 3N Tued FaNEe &
w0 # off ST Sr @1 deifeaw enuia SeRs e

Gy § faRiy wew @ g1
27.

During settlement process, the transaction
funds are deposited into your primary bank
account with hours.

fuem ufshar & IR, ofaRur faften et
el W ek wrefireR sk @rar | wHT

HAAT AT 2

(a) 5 hours/5 >EA

(b) 2 hours/2 ¥

(¢) More than 48 hours/48 21 ¥ 31ftrsh

(d) 24 to 48 hours/24 ¥ 48 =2
Ans. (d) : froem st & <, siaor e & 24 @
48 HU2 § 9% TAfE Ak @il § ST AT S 7 |
28.

Which of the following is a most important
cause of loss of biodiversity?

frreafafaa & @ sm-ur Safafaear i g

W Y@ T §?

(a) Habitat loss and fragmentation

/3T B 3R Wed

(b) Co-extinction/Hafaara

(c) Alien species invasion/dTgl JSTfd SATsHHUT

(d) Over-exploitation/3fTmooT
Ans. (a) : 519 fafaea & aift &1 9d wE RO A
g iR @ued 21 Wi ardl S F, 9, wed aEt
AR g T F e # aaed § W srarEt &
fomrer SR forgve g &, S Srafafaea @i &1 i
FHT 2|
29.

In Haryana, ICAR- Indian Agricultural
Research Institute (IARI) Regional centre

located in/ERITUT W, SMEHtUeR. IfeEm
rreene Reel grafeege (TR, )
arsfrar g feerm €1
(a) Karnal/&&Td §
(b) Mohali/TTelt #
(c) Hisar/fGaR &
(d) Rohtak/Trgds |
Ans. (a) : Rawm #, oUW (ICAR) Ifesm

e Rod $Wlee (SMBUIRIE.) &Hd &%
T # e 21

30.  Complete the series./ST@eT gul |

19, 23, 26, 30, 33, ?
(a) 39 (b) 37
(©) 31 (d) 35
Ans. (b) : & T e e 2-
3 3

I v oo
26 30

Who wrote "Satyartha Prakasha''?
el yeRToT'! % TGk i &7

(a) Annie Besant/TH FHe

(b) Rajaram Mohan Roy/TSTRH e 1
(¢) Swami Vivekananda/@mH g
(d) Dayananda Saraswati/SJTHg TL&T
Ans. (d) :

Y&dch
EREREIN
I T

[SECED

ERIEE ]

TSR HiEd T
e zdur ey i
e wa gAY T A

Environmental enteropathy effects

yateRufiar STsfaepfr Rl W htet

2

(a) Respiratory system/5H= JUTcit

(b) Spleen/waT

(c) Intestine/37id

(d) Liver/ashd

Ans. (c) : Tafatofa srafapfa ofiq & wifad S 71

i AR B FRT SgErREE 1 g e

R U F T H 9§ ol § ge ) ame Refy

a7 & S &1 g S Afhar % qRumaEEy Jeud Ani

32.

§ ¢ Gadi gRad & 9 7

33.

The electrolyte of mercury cell is a paste of

TR 9 @ faEE etusew W TH
Torsror &1

(a) HgO and Carbon/ HgO 3R HE

(b) KOH and HgO/ KOH 3iR HgO

(¢) NaOH and HgO/ NaOH 3R HgO

(d) KOH and ZnO/ KOH 3 ZnO

Ans. (d) : T 9 F BT 3199T KOH 3R ZnO
T I 31 U ¥F TH IER F YH A ¢, e
AR & &9 § K% ws, mEis siwse ds
R e FEgEEEe B 2
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